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|. Tpe6oBaHUA K BbINOSIHEHUIO KOHTPOJbHbLIX 3af4aHUN N 0POPMIIEHUIO
KOHTPONbHbIX paboT.

1.KonnyecTtBO KOHTPOSbHbLIX 3a4aHW, BbINOMHAEMbIX Ha KaXXAOM Kypce,
yCTaHaBnMBaeTcs y4ebHbIM NiiaHOM yHMBepcuTeTa.

2. Kaxxgoe KOHTpOnbHOE 3afaHne B AaHHOM nocobuun npeanaraeTcs B NATU
BapuaHTax. CTygeHT JOMMKEH BbINOSTHUTL OAWH N3 NATU BapuaHTOB B COOTBETCTBUMU C
nocnegHUMn umpamm ctyeH4Yeckoro wudppa: CTygeHTbl, Wndp KOTOPbIX
OKaH4ymBaeTcs Ha 1 unu 2, BbiNonHAT BapuaHT Ne1; Ha 3 unn 4 — BapmnaHT Ne2; Ha 5
unu 6 — sapmanT Ne3; Ha 7 unu 8 — BapmaHT Ne4; Ha 9 unu 0 — BapmaHT Ne5.

3. NMCbMEHHbIE KOHTPOSbHbIE paboThl cnefyeT BbIMNOMHATL B OTAENbHON TeTpaau.
Ha obnoxke TeTpagu cnegyet Hanucatb: aMunuio, MHMUuanel, Wwudp, Homep
KOHTPOJSIbHOW paboThbl, BapMaHT N Ha3BaHWe ydebHuKa, No KOTOPOMY 3aHMMaeTCs
CTYOEHT, a TakKe agpec CTyaeHTa.

4. KoHTpornbHble paboTbl AOSMKHbBI BbINOSTHATLCS YepHUNaMu, akkypaTHO, YETKUM
NoYepKOM; B TeTpaLsX B KNEeTKy cnegyeTt nucatb Yepes cTpouky. [pu BeINONHEHUN
KOHTPOJSIbHOW paboThbl crieayeT OCTaBNATb B TETpaau LWMPOKUE Nosis ANng 3aMmeyaHuin,
00BbSACHEHUN 1 YKa3aHU peleH3eHTa. Heobxoammo nepenuncbiBaTb 3a4aHns K Kaxxgomy
YNPaXXHEHWUIO U TOYHO MX BbIMOMNHATb.

5. 'HOCTpaHHbIN TEKCT KaXX4oro 3afaHnsa HY)XXHO nepenucbiBaTb Ha IEBON CTpaHuLe
TeTpagu, Ha NpaBoy AaBaTb €ro pycCcknn nepesos.

6. BbINONHEHHbIE KOHTPOSIbHbIE PAabOThLlI HANPABMAKTCA B UHCTUTYT OS5I MPOBEPKM U
peueH3MpoBaHus B YCTaHOBIEHHbIE CPOKKU. Pa3speluaeTca 4OCPOYHOE BbINOSTHEHNE
KOHTPOSIbHOM paboTbl, 0AHAKO BO n3bexaHne NoOBTOPEHNSA BO3MOXHbIX OLLUMOOK,
pekoMeHAyeTCH BbIMOMHATb M BbiCbIflaTb Ha peueH3npoBaHMe OQHOBPEMEHHO TOSbKO
OAHY KOHTPOMbHYO paboTy.

7. PaboTta Hag owmnbKkamm BbINMOMHAETCA NMMCbMEHHO B 3TOW e TeTpaau.

8. Ecnun paboTa BbINOMHEHA HE B COOTBETCTBUMN C YKa3aHUAMMU UNN HE NMOMHOCTbLIO,
OHa Bo3BpaLlaeTcs 6e3 npoBepKu.

Il. TpeboBaHMA K 3aLWMUTEe KOHTPOJbHbLIX PaboT.

1. 3HaTb rpaMmaTurKy, PEKOMEHLOBAHHYIO AMS BbIMOMHEHNSA KOHTPOSbHON paboThl.

2. YMeTb HaxoauTb U NpaBUITIbHO NEPEBOANTL AaHHbIE rpamMmMaTuyeckne qopmbl B
CBSI3HOM TEKCTe.

3. YMeTb npaBuibHO ynoTpebnsaTb AaHHble rpamMaTudeckne opmbl B MMCbMEHHOM
N YCTHOW peyun.

4. 3HaTb HEOOXOANMBIN NIEKCUYECKNn MaTepumarn.

[ll. TopeboBaHUSA K 3a4€ETY.

1. K 3a4éTty gonyckaroTca CTyAeHTbl, BbIMOMHUBLUWE NpesyCMOTPEeHHOe NporpaMmmMon
KONn4ecTBO paboT 1 caasLune TEKCTbl ANS AOMALUHEro YTEHUS, T.€. TeKCTbI
y4yebHuKa nnun y4yebHbIx Nocobum No aHrMMNCKoMy s3blky. K TekcTtam gormkeH 6biTb
COCTaBreH CnoBapb, KOTOPbIM MOXHO MOMNb30BaTbCA MpU Nepesoe.

2. [Ina nony4yeHns 3a4éta Heob6xoanmo:

a) BbINOMHUTb 3a4aHNs Ha yY3HaBaHWe N NPaBUIibHbIA NepPeBo rpaMMaTUYEeCcKuX OOPM.

6) 3HaTb NeKCU4eCcKMn MUHUMYM K TekcTaM (30 nekcuyecknx eamHuL B CeEMeCTp).



IV. TpeboBaHUA K 9K3aMeHY.
1.K 3Kk3aMeHy No aHrMMNCKOMY A3bIKY O0MYyCKalTCH CTYOEHTbI, UMetoLLme 3a4€eT 3a |,
[l n 11l cemecTpbl, BINOSTHMBLUNE NMUCbMEHHbIE KOHTPOIbHbIE PaboThl U caaBLUne
y4yeObHbI MaTepman no goMallHeMY YTeHuto 3a IV cemecTp.
2. Ha ak3ameHe npoBepsaTca yMEHNS:
a) YntaTb N NEPEBOAUTL CO CNTIOBAPEM HE3HAKOMbIN TEKCT, COAEPXKALLNA N3YYEHHbIN
rpammaTuyeckumn matepuan. (500-600 n. 3HakoB 3a 0,5 Yyaca NoAroToBKN).
6) oTBe4aTb Ha BOMPOCHI MO COAEPXKAHUIO TEKCTA.
Mpumeyanue: CTyaeHTbl OMYCKaKTCA K 3a4€TY M 9K3aMeHy rnocre 3awmThbl
BbINOSTHEHHbIX KOHTPOSbHbIX paboT.

KoHTporbHble 3a8aHuns.

KoHTponbHoe 3agaHue Ne1.

[nga Toro 4To6LI NPaBUIIbHO BbINOMHUTL 3adaHue Ne1, Heob6xoaMMo yCBOUTL
crnegyloLmne rpammMmaTmyeckne TeMbI:

1. ma cyulectButenbHoe. MHOXeCTBEHHOE YMCNOo. APTUKIN U NPeasiorn Kak
nokasaTenv MMEHMU CyLLEeCTBUTENBHOrO. [putskaTenbHbIN NagexX UMeHu
cywectBuTenbHoro. CyliecTeBuTenbHoe B (PyHKUMM onpeaeneHns u ero nepesos Ha
PYCCKUN A3bIK.

2. Ima npunaratensHoe. CTeneHn cpaBHEHUS UMEH npunaraTesibHbIX. KOHCTpyKLUmK
Tvna the more ... the less.

3. YucnurenoHeole.

4. MecTOMMEHUS: NMNYHbIE, MPUTSKATENbHbIE, BONPOCUTENbHbIE, YKa3aTenbHbIE,
HeonpeaenéHHble N OTpuLaTerbHbIe.

5. ®opma HacToswero (Present), npoweawero (Past) n 6ygyuwero (Future) BpemeHu
rpynnbl Indefinite 4encTBMTENBHOrO 3anora 3bLABUTESNTbHOIO HaKMOHEHUs. CrnipsbkeHne
rnaronos to be, to have B Present, Past n Future Indefinite. lNoBenutensHoe
HaKMoOHeHWe 1 ero oTpuuaTensHas gopma.

6. NpocToe npeanoxeHne: NPAMON NOPSIAOK CNOB NOBECTBOBATENBLHOMO NPeasIoXKeHns
B YTBEPAUTENBHON U OTpuLaTenbHon hopmax; obpaTHbI NOPALOK CrOB
BOMPOCUTENBHOMO NPEANOXEHUS.

7. Oboport there is (are).

8. OcHOBHbIe crnyyan cnoBoobpasoBaHus.

NcnonbayiTte cnegytowme obpasubl BbIMOMHEHUS YNPaXXHEHUN.

Ob6pasel BbinonHenuns 1 (k ynp.l).

rpaMmmaTndeckas yHKUMSE OKOHYaHUS -S
1. The students attend lectures and seminars.  CTygeHTbl NOCELLalOT NeKUnn n
students ceMuHapbl.

lectures } MHOXXEeCTBEHHOEe Y1Cno a student
seminars OT WMEH CYLLECTBMUT. a lecture
a seminar

2. He lectures on history. OH ynTaeT nekumm no UCTOpUN.



lectures — 3-e nMLO eANHCTBEHHOrO Ymucna ot rnarona to lecture B Present Indefinite.

3. My brother’s son is a student. CbIH Moero bpaTa - CTyAeHT.
B cnose brother’'s — ‘s okoH4YaHWe NpUTSKaTENBHOrO Nagexa MMEHN CyLLEeCTBUTENbHOIO
B €4VMHCTBEHHOM 4uChe.

My brothers’ sons are students. CblHOBbSI MOUX BpaTbeB - CTYAEHThI.

CnoBo brothers’ — dpopma nputaxaTenbHOro nagexa UMeHn CyLLLeCTBUTENBHOTO a
brother BO MHOXXeCTBEHHOM 4KUChe.

O6pasel BbinonHeHus 2 (k ynp.ll).
OcobeHHOCTN NnepeBofa Ha PYCCKNIN A3bIK aHITIMNCKUX UMEH CYLLLECTBUTESbHBbIX,
yrnoTpebnsowmnxcsa B yHKLUMW onpegerieHns, CTosILWero nepen onpenensemMbiM
CrNOBOM.

1.This scientist works at some problems of 3ToT y4eHbIi paboTaeT Hag HEKOTOPbIMK
low temperature physics. npobnemamu om3nKn HU3KUX TeMnepaTtyp.

Obpaseu BbinonHeHus 3 (k ynp.V).

Lomonosov founded the first Russian JTomoHOCOB OCHOBan NepBbI PyCCKUN
University in Moscow. yHuBepcuteT B Mockse.

Founded — Past Indefinite (Simple) Active oT ctaHgapTHoro rnarona to found.

BapwuaHT 1.
|. MNepenuwuTe cnegyowme npeanoxeHus. Onpegenure No rpaMmMaTUYECKUM
npu3HaKaM, Kakor 4YacTbio peyn SBMATCA croBa, 0pOpMIEHHbIE OKOHYaHNEM —S 1©
KaKyr (PYHKLMIO 3TO OKOHYAHMWE BbIMOSHSET, T.€. CNYXWUT NN OHO:
a) nokasartenem 3-ro nuua eaAMHCTBEHHOrO Yncna rnarona B Present Indefinite;
6) NPU3HAKOM MHOXXECTBEHHOTO YMCITA UMEHW CYLLLECTBUTENBHOTO;
B) NokasaTenem npuTsxaTenbHOro nagexa MMeHu CyLecTBMTENbHOro (CcM. obpasey,
BbIMNOMNHEHUN 1).

lMepeBeanTe NpeanoXeHns Ha PYCCKUA A3bIK.

1. The “Big Ben” clock weighs 13,5 tons.

2. Most of London’s places of interest are situated to the north of the river Thames.
3. Hyde Park covers 360 acres.

[I. Mepenuwnte cnegyrowme NpeanioXkeHnsa n nepesegmte nx, obpailas BHAMaHue Ha
0CcoBEeHHOCTN NepeBoga Ha PYCCKUN A3bIK ONpeaeneHnii, BblpaXeHHbIX UMEHEM
cyliecTBuTeNbHbIM (CM. 0bpasel, BbINOSTHEHMUS 2).

1. The bus stop is not far from here.

2. Several Moscow University physicists work at this problem.

3. High speed electronic computers help the engineers to solve many technological
problems.

lll. NepenuwmnTe crnegyowmne npeanoxXeHuns, cogepxaline pasHole opMbl CpaBHEHUS,
N NnepeBeguTe UX Ha PYCCKUM A3bIK.

1. A city has wider streets than a village.

2. The longer is the night, the shorter is the day.



3. The worst conditions for growing fruit trees are in the North.

IV. lMepenuwmnte n NMCbMEHHO NepeBeanTe NPEeAnoXeHNsa Ha PyCccKMmn A3blK, obpalas
BHMMaHMe Ha nepeBog obopoTta there + be n HeonpegeneHHbIX N oTpULaTENbHbIX
MECTOUMEHUN.

1. No park in London is as popular as Hyde Park.

2. There are many power stations in our country.

3. There will be a time when people will travel from one planet to another.

V. lNepenuwuTe crnegyoLmne nNpeanioxXeHns, onpeaennte B HAX BUOOBPEMEHHbIE
POPMbI FFIArosIoB N yKaXuTe nx UHUHUTUB; NnepeBeanTe NPeanoXeHns Ha pyCcCKum
A3bIK (CM. obpaseLl, BbINosiHeHUs 3).

1. The Port of London is to the east of the City.

2. In a few days she will leave for Moscow.

3. At the age of 21 Albert Einstein got a job as a clerk in an office.

VI. lMpoyntante n yCTHO nepeBeamTe Ha PYCCKNN A3bIK C 1-ro no 7-n ab3aubl TekcTa.
Mepenuwmnte n NnucbMeHHo nepeseaute 1,2,4 n 7 abaaubl.

London.
1. London is the capital of Great Britain, its political, economic and commercial center. It
is one of the biggest and busiest ports of Great Britain. It is situated on both sides of the
Thames, which is navigable all the year round.
2. London is one of the largest cities in the world. It stretches for nearly thirty miles from
east to west and for nearly thirty miles from north to south.
3. London is a very old city. It is more then twenty centuries old. Now the population of
London is about ten million. London consists of many parts and they are very different
from each other. But the main ones are the City, the East End, the West End and
Westminster.
4. The West End is a symbol of wealth and luxury. The best and the most expensive
hotels, restaurants, clubs, theatres, cinemas and the richest shops are there. There are
splendid houses and lovely gardens there belonging to wealthy people.

Trafalgar Square is the geographical center of London. It was named to
commemorate Admiral Nelson’s victory at the Battle of Trafalgar.

On the north side of Trafalgar Square is the National Gallery, an art gallery that
houses the national collection of pictures and the National Portrait Gallery that houses
the national collection of portraits.

5. Westminster Abbey is famous for its architecture, for its historical associations.
Westminster Abbey has its world famous Poet’s Corner where many of the greatest
English writers are buried.

6.The City is the oldest part of London. It covers only about a square mile and few
people live there, but over a million people enter the City in the day-time to work. At the
end of the day the businessmen, clerks and secretaries go home and the City becomes
silent and empty. The City is the financial and business part of London. Numerous
banks, offices and trusts are concentrated in this part. There are some ancient buildings
within the City, which were built many centuries ago. The Tower of London was built
nine centuries ago and used as a royal palace, a fortress and political prison. Now it is a
museum.

7. The East End is the poorest district of London. There are many factories, workshops
and docks there. The streets are narrow, the houses are poor. It is a densely populated
district where working class families live.



VI. Mpountante 3,5 n 6 ab3aupbl TEKCTA U MMCbMEHHO OTBETLTE HA BOMPOCHI:
1. How old is London?

2. What are the main parts of London?

3. Where are many of the greatest English writers buried?

4. Why does the City become silent and empty at the end of the day?

5. What is the Tower of London nowadays?

BapuaHT 2.
I. MepenuwwnTe cnegyowme npegnoxexus. Onpegennte No rpaMMaTUYeCKUM
npu3Hakam, Kakom YacTbio peyun SBNAITCA croBa, OPOPMIIEHHbIE OKOHYaHNEM —S U
Kakyto (OYHKLMIO 3TO OKOHYAHWE BbINOSHAET, T.€. CNYXXMUT f1 OHO:
a) nokasaTenem 3-ro nuua eanHCTBEHHOro Yucna rnarona B Present Indefinite;
6) NpM3HaKoOM MHOXXECTBEHHOIO YMCIia MMEHU CYLLECTBUTENBHOIO;
B) NokasaTenem nNpuUTskaTenbHOro nagexa MMeHu CyLwecTBUTENbHOro (cM. obpasely
BbINOSTHEHUA 1).
MNepeBeanTe NpennoXxXeHnsa Ha PyCCKUM A3bIK.
1. Belfast grows very fast.
2. Among other places of interest in Belfast is the Queen’s University.
3. The Palm House built in 1850 attracts the visitors’ attention.

[l. MepenuwunTe cnegyowme NpeanoXeHus n nepeseguTe nx, obpallas BHUMaHMe Ha
0COBEHHOCTN NepeBoga Ha PYCCKUI SA3bIK ONpeaeneHnii, BblpaXKeHHbIX UMEHEM
CyLLecTBUTENbHbLIM (CM. 0bpa3seL, BbINOSTHEHMUS 2).

1. Belfast is one of the largest sea trade ports of Northern Ireland.

2. Teams of figure skaters and ice-hockey players undergo intensive training at the
Sports Centre.

3. The flexible production line consists of a programmable machine-tool and an
electronic control system.

[ll. MepenuwuTe crnegyoLmne NpeanoxeHns, cogepxalune pasHole opMbl CpaBHEHNS
N NepeBeauTe UX Ha PYCCKUI A3bIK.

1. Lake Baikal is the deepest in the world.

2. The faster the substance burns, the more heat it gives off.

3. The results of his last experiment were worse than of the previous one.

IV. MNepenuwnte n NUCbMEHHO NepeBeauTe NPeasIOKEHNA Ha PYCCKUN A3bIK, 0bpaLlas
BHMMaHWe Ha nepeso obopoTa there + be 1 HeonpeaenéHHbIX U oTpULATENbHBIX
MeCTONMEHUN.

1. There are several sources of energy, some of them are inexhaustible.

2. Do you know any foreign language?

3. There are 14 protons in the nucleus of a silicon atom.

V. MNepenuwunTe cnegyowme npeanoxeHus, onpeaenvre B HUX BUAOBPEMEHHbIE
POpPMbI FNArosioB N yKaxuTe nx UHPUHUTUB; NepeBeanTe NPeANoXKeHNs Ha PYCCKUM
A3bIK (CM. obpaseL, BbiNOoNHEHNS 3).

1. Lomonosov was a great poet and did much for the progress of the Russian language.
2. The student will continue his research in a laboratory.

3. The new workshop houses a new flexible module.

VI. MNMpoynTante n yCTHO nepeBeauTe Ha PYCCKNIN A3bIK C 1-ro no 5-bin ab3aubl TekcTa.
Mepenuwmnte n nucbMeHHo nepeseaute 2,3,4 ab3aubl TEKCTA.
[MoACHEeHNA K TEKCTY:



1. Lagan — p.JlaraH
2. Belfast Lough ['lok] — 03. BendacTt
Belfast.

1. Belfast, a capital of Northern Ireland, is its main administrative, economic and cultural
center. It is situated at the mouth of the river Lagan *, on the shores of Belfast Lough °.
2. Belfast is one of the youngest capital cities in the world and it grows very fast. Today
the city has a population of 400,000, nearly a third of the entire population of Northern
Ireland, but in the 17™ century it was only a village. Then, during the 19" century, the
development of industries like linen, rope-making, engineering and the sea-trade
doubled the town’s size every ten years.
3. Nowadays Belfast is an important center of textile manufacture, aircraft production,
electrical engineering and ship-building — it was here that the “Titanic” was built and
sent out on her fatal voyage. Belfast has the largest in the world shipyard. It built many
fine liners, warships and other vessels, which sail the seas of the world. Belfast is also
one of the largest seaports of the U.K. It handles most of the overseas trade of Northern
Ireland. Its fine harbour welcomes ships from many parts of the world.
4. In the eastern part of Belfast you will see a magnificent Parliament building. This
place is called Stormont. Stormont is also the name of the former autonomous lIrish
parliament, which existed from 1920 till 1972. It consisted of two chambers — the House
of Commons and the Senate. The British Parliament has ruled Northern Ireland since
1972.

Among other places of interest in Belfast are the Queen’s University with many
fine new buildings, the Cathedral of St. Anne and the Art Gallery.
5. The outskirts of Belfast are rich in beautiful parks. The Botanic Gardens contain a rich
collection of rare plants. Some of the tropical plants are 100 years old. The Palm House
built in 1850 usually attracts the visitors’ attention.

VII. Mpountante 1 n 5 ab3aupbl TEKCTA M NMCbMEHHO OTBETLTE HA BOMPOCHI.
1. What is this text about?

2. Is it the main administrative, economic and cultural center?

3. Where is it situated?

4. Where are the beautiful parks situated?

5. What do the Botanic Gardens contain?

BapwuaHT 3.
I. MepenuwunTte cneaytowme npegnoxenus. Onpegenure No rpammMaTUYeCcKNm
npu3HaKam, Kakon 4acTbio peyun SABMISKTCA CrioBa, OPOPMIIEHHbIE OKOHYaHMEM —S U
KaKyto dOYHKLMIO 3TO OKOHYaHMWE BbINOSTHSAET, T.€. CIY>XUT SN OHO:
a) nokasaTenem 3-ro nuua eguMHCTBEHHOrO YMcna rnarona B Present Indefinite;
6) NPU3HAKOM MHOXECTBEHHOTIO YnNCra UMEHU CyLLECTBUTESNBLHOIO;
B) NokasaTtenem npuTshkaTenbHOro nagexa MMeHn CyLecTBMTeNbHOro (CM. obpasey,
BbINOSTHEHUSA 1).
[MepeBeguTe NpeanoXeHUs Ha PyCCKUN A3bIK.
1. Frosts and storms make life hard in the Far North.
2. Professor N. lectures on history.
3. Chicago is the nation’s second largest city.

[I. MepenuwuTe cnegytowme npeanoxeHus n nepeeseante nx, obpailas BHUMaHue Ha
0COBEeHHOCTN NepeBoga Ha PYCCKUI A3bIK ONpeaeneHnii, BblpaXKeHHbIX UMEHEM
cyLecTBuTENbHbLIM (CM. 0bpaseL, BbINOSTHEHMUS 2).

1. Forest areas of our country are very great.

2. Chicago is the world’s largest railroad terminal.



3. The highest population density in Russia is in Chuvashia.

[ll. MepenuwnTe cnegyowmne NpeanioxXeHns, cogepxalume pasHole opmbl CpaBHEHMS,
N NepeBeauTe UX Ha PYCCKU A3bIK.

1. The thicker the wire the less its resistance.

2. The weather today is worse than it was yesterday.

3. Moscow is the largest city in our country.

IV. MNepenuwmnte n NMCbMEHHO NepeBeanTe NPEeANoXeHNsa Ha PYCCKUIN A3blK, obpaLlas
BHMMaHMe Ha nepeBog obopoTa there + be 1 HeonpeaenéHHbIX N oTpULaTENbHbIX
MECTOUMEHUN.

1. There are more than 100 elements known to science.

2. There appeared some new methods of separating the molecules of polymers.

3. My schoolfriend has no ability to mathematics.

V. MNepenuwuTe crnegyowme NpeanoxXeHusl, onpeaennte B HUX BUOOBPEMEHHbIE
POPMbI FNIArosiIoB N yKaXuTe nx UHPUHUTUB; NepeBeanTe NPeanoXKeHNs Ha PYCCKUM
A3bIK (CM. obpaseLl, BbINonHeHus 3).

1. The student made no mistakes in his translation.

2. Plasma is the fourth state of matter.

3. We shall investigate the structure of a new substance in our laboratory.

VI. MNpoynTante n yCcTHO nepeseamTe Ha PyCCKMIN A3bIK C 1-ro no 5-bin ab3aubl TekcTa.
Mepenuwmnte n nucbMeHHo nepesegute 1,2,5 ab3aubl TekcTa.
[MOSICHEHUS K TEKCTY:
1. inland — BHYTpb, Brny6b
2. trading post — ¢pakTopus
3. fur trappers — OXOTHWKM Ha NyLLHOrO 3BepS

Chicago.
1. Chicago is the nation’s second largest city, the most important Great Lakes port and
the world’s largest railroad terminal. It lies about 800 miles inland * from the Atlantic and
for centuries was known only to Indians as a small trading post ? for fur trappers . But
after the opening of the Eerie canal in 1825 Chicago soon became a harbour and
started to grow rapidly.
2. The construction of railroad in the 1840s still furthered its unprecedented growth.
Chicago soon turned into the largest grain and meatmarket of the country. This
encouraged the farmer to grow more wheat and raise more cattle. Thus the gigantic
transportation system with Chicago at the center helped the conversion of farming into
an industry which, in turn, gave impetus to the appearance of countless inventions. In
the 35 years between the end of the Civil war and the end of the century, the U.S.
Patent Office granted more than half-a-million patents. And so Chicago became a major
industrial city with a permanent labour force.
3. After 1850 housing posed the most serious urban problem. The extremely high cost
of urban territory spurred the architects to build upward. They tried to find a new form of
their buildings. Soon a “race to the skies” was on in all the great cities of America, and
the words “skyscraper” and “skyline” entered the language. The first building of this kind
was erected in 1883. Thus the skyscraper was Chicago’s contribution to American
architecture.
4. However, all efforts to relieve radically the overcrowding in Chicago slums practically
failed for the population continued to grow rapidly and by 1950 reached 3,620,000.



5. Chicago in our days is not only a major industrial city but also an important cultural
center. It has nearly 100 institutions of higher learning as well as a number of interesting
museums, picturesque parks, good recreational and sport facilities. Among the famous
skyscrapers are the 100 story John Hancock Center and the 110-story Sears Tower,
which rank as the world’s tallest building.

VII. Mpountante 3,4 ab3aubl TEKCTA U MUCbMEHHO OTBETLTE HA BOMPOCHI.
1. What spurred the architects to build upward?

2. What words entered the language after 18507?

3. What was Chicago’s contribution to American architecture?

4. Were the efforts to relieve the overcrowding in Chicago a success?

5. What was the population in Chicago in 1950?

BapwuaHrT 4.
I. MepenuwnTe cnegyowme npegnoxexusi. Onpegennte No rpaMMaTUYeCKUM
npu3Hakam, Kakom YacTbio peyun SBNAITCA croBa, 0POPMIIEHHbIE OKOHYaHNEM —S U
Kakyto OYHKLMIO 3TO OKOHYaHWE BbINOSHAET, T.€. CNYXXUT NN OHO:
a) nokasaTterniem 3-ro nuua eanHCTBEHHOro Yucna rnarona B Present Indefinite;
6) NpM3HaKoM MHOXXECTBEHHOIO YNCria UMEHU CyLLECTBUTENBHOIO;
B) NokasaTenem nNpuTskaTtenbHOro nagexa MMeHu cyLecTBUTENbHOro (cM. obpasely
BbIMNONHEHUA 1).
MepeBenunTe NpeanoXXeHns Ha PyCCKUN SA3bIK.
1. He never thinks of other people. He is selfish.
2. Vegetarians do not eat meat.
3. The Moon is the Earth’s natural satellite.

[I. MepenuwunTe crnepyowme NpeanoXeHus n nepeseguTe nx, obpallas BHUMaHMe Ha
0COBEHHOCTN NepeBofa Ha PYCCKUI S3bIK ONpeaeneHnn, BblpaXXeHHbIX UMEHEM
CyLLecTBUTENbHbLIM (CM. 0bpa3seL, BbINOSTHEHMUS 2).

1. The first generation robots appeared in 1960.

2. Robots can perform complex production operations.

3. The nuclear — rocket engine must be thermally efficient.

[ll. MepenuwnTe cnegyowme NpeanioxXeHns, cogepxalume pasHble hopmbl CpaBHEHMS
N nepeBeauTe UX Ha PYCCKUN A3bIK.

1. The more experiments we carry out, the more data we obtain.

2. We stayed at the cheapest hotel in the town.

3. Radio waves serve as the most reliable means of communication between the
spaceship and the Earth.

IV. MNepenuwmnte n NMCbMEHHO NepeBeanTe NPEeAnoXeHNsa Ha PyCCKUN A3blK, obpaLlyas
BHUMaHWe Ha nepeBog obopoTa there + be 1 HeonpeaenéHHbIX N oTpULaTENbHbIX
MECTOUMEHUI.

1. There are many houses in the southern regions of our country, which use solar
heaters.

2. There were some changes in the properties of the solid under test.

3. Are there any new instruments in your laboratory?

V. MepenuwunTe cnegyowme npeanoxeHns, onpegenite B HUX BUOOBPEMEHHbIE
POpPMbI FF1ArosiIoB N yKaxuTe nx UHPUHUTUB; NepeBeanTe NPeanoXeHNa Ha PyCCKUM
A3bIK (CM. obpaseL BbiNoNHeEHNS 3).

1. Einstein was very fond of music. His violin brought him much joy.



2. Sea and river — going ships discharge no less than 5 million tons of oil into seas and
oceans each year.
3. Your experiment will not give good results until you change the speed of reaction.

VI. MNMpounTtante n yCTHO NnepeBeauTe Ha PyCCKknii a3blk ¢ 1 No 5 ab3aubl TekcTa.
Mepenuwmnte n nucbMeHHo nepeBeauTe 1 1 4 ab3aubl TeKCTa.

[MoAcHeHus K TeKCTy:

1. pacific — TMXoOKeaHCcKni

2. the motion-picture industry — knHemaTorpadguyeckas NPOMbILLIIEHHOCTb,
KnHemaTorpadus

3. dim-out — 3aTmeHne

4. single-family housing units — xunble 6110K1 Ha O4HY CEMbIO

5. derrick — 6ypoBas BblLLIKa

6. freeway — aBTOCTpaga, aBTomarmcTpanb

7. outlying — oT4anéHHbIN, yaanéHHbIN

Los Angeles.
1. Los Angeles was founded by the Spanish in 1781 and for a long time developed very
slowly. In 1847 when the American forces captured Los Angeles its population was only
1,500. It remained a small community until the 1890s when the discovery of huge
reserves of oil in the area greatly stimulated its growth. The opening of the Panama
Canal in 1914 turned Los Angeles into a major pacific* sea-port and brought further
expansion.
2. The 1920s saw an unprecendented growth of the motion-picture industry?, mainly
due to an exceptionally favourable climate with a lot of sunny days and very little rainfall.
It is also the climatic conditions and exceedingly fertile soil that made Los Angeles the
“garden spot” of the United States that produces most of its citrus fruit.
3. During World War Il Los Angeles became an important center of the aviation industry
and started developing on a gigantic scale. Thousands of newly-built plants discharged
smoke, microscopic dust, gases and chemicals. And this smog caused a daylight dim-
out® one day-September 8, 1943.
4. Los Angeles of our days is the nation’s third most populous city with over 3 million
inhabitants in the city itself and about 8 million in the whole metropolitan area. It has one
of the largest urban territories in the world. Almost all of this vast area is covered by
single —family housing units*, oil derricks® and industrial complexes. Los Angeles is the
most “one-storied’ city of the large American cities. Even in the central part there are
comparatively few multistoried apartment houses and high-rise buildings.
Characteristically, Los Angeles has the heaviest per capita concentration of automobiles
in the world and is famous for its vast system of freeways® radiating from the center to
outlying” areas.
5. Thousands of tourists are especially attracted by Disneyland, the children’s fairy-tale
park, opened in 1955 and the Hollywood Bowl, a gigantic open-air cinema theatre which
every summer houses national musical festivals and where the highest film awards-the
Oscars- are presented to film stars and producers.

VII. Mpountante 2,3 n 5 ab3aupbl TEKCTA U MMCbMEHHO OTBETLTE HA BOMPOCHI.
1. What industry was developed in the 1920-s?

2. What made Los Angeles the “garden spot” of the United States?

3. What happened on September 8, 19437

4. What was the reason of the daylight dim-out?

5. What is Los Angeles famous for?



BapwuaHT 5.
I. MepenuwuTe cnegyowme npegnoxexHus. Onpegennte No rpaMMaTU4eCKUM
NpM3HaKaM, Kakomn 4acCTbio peyn SBMATCH Crosa, 0(pOpMMEHHbIE OKOHYaHNEM —S U
KaKyto (OYHKLMIO 3TO OKOHYAHWE BbINOSHAET, T.€. CIYXMUT f1 OHO:
a) nokasaTternem 3-ro nuua eauMHCTBEHHOrO YMcna rnarona B Present Indefinite;
6) NpM3HaKOM MHOXECTBEHHOIO YnCria UMEHU CyLLECTBUTENBHOIO;
B) Moka3aTeneM npuTskaTenbHOro Nagexa UMeHn CyLlecTBUMTeNbHOro (CM. obpasey,
BbIMOSHEHUS 1).
MNepeBeauTe NpeanoXeHUs Ha PYCCKUA A3bIK.
1. The sunrises in the East.
2. Mr. Hall delivers lectures to the students of a technical college.
3. Mazda, Japan’s fourth biggest car-maker plans to produce 1500000 cars in Europe.

[I. MepenuwnTe cnegyowme NpeanoXeHus n nepeseanTe nx, obpaiwias BHUMaHue Ha
0COBEHHOCTN NepeBoga Ha PYCCKUI SA3bIK ONpeaeneHnii, BblpaXKeHHbIX UMEHEM
CyLLecTBUTENbHbLIM (CM. 0bpa3seL, BbINOSTHEHMUS 2).

1. The scientists developed new synthetic rubber products.

2. Japan holds the lead in the world in robot production.

3.The first generation robots appeared in 1960.

[ll. MepenuwnTe cnegyowme NpeanioxXeHns, cogepxalume pasHble hopmbl CpaBHEHMS
N nepeBeauTe UX Ha PYCCKUN A3bIK.

1. Automatic devices make labour safer and easier.

2. The higher we go into the atmosphere, the thinner the air becomes.

3. Wall-Street is one of the oldest and shortest streets in New-York.

IV. MNepenuwmnte n NMCbMEHHO NepeBeanTe NPEeAnoXeHUs Ha PyCCKUN A3blk, obpallas
BHMUMaHMe Ha nepeBog obopoTa there + be n HeonpeaenéHHbIX N oTpULaTenbHbIX
MECTOUMEHUN.

1. There is a tradition in England to hold a rally in which only the oldest cars take part.
2. Even in the central part of Los Angeles there are comparatively few multistoried
apartment houses and high-rise buildings.

3. There are many houses in the southern regions of our country, which use solar
heaters.

V. lMNepenuwmnTte cnegyoLme npennoxeHus, onpenenire B HUX BUOOBPEMEHHbIE
POpPMbI rF1ArosiIoB N yKaxuTte nx UHPUHNTUB; NepeBeanTe NPeanoXXeHNsa Ha PyCCKUM
A3bIK (CM. obpaseL BbiNONHEHNS 3).

1. Washington is the capital of the United States of America.

2. Before the Civil War Washington grew rather slowly.

3. They will finish their work tomorrow.

VI. MNMpoyntante n yCTHO nepeseamTe Ha pyccknin sA3bik ¢ 1 no 3 ab3aubl TEKCTa.
Mepenuwmnte n nuceMeHHO nepeseante 1 n 2 ab3aubl TeKCTa.

[MosiCHEHUS K TEKCTY:

1.influx- npuToK, HaNMbIB

2.embarkation- norpyska

3.the Pacific- Tuxun okeaH

4.the United Nations Charter- Yctas OOH



5.vista- anneqa
6.ornate- ButTneBaTbI

San Francisco.
1.San Francisco was founded by the Spanish in 1776 but it received its present name
only in 1847 when, after the Mexican war, the whole California passed to the United
States. With the beginning of the famous “gold rush” of 1848 thousands of fortune-
seekers and adventurers flooded the area and the population of San Francisco grew up
to 50,00. The steady influx* of immigrants from over the world never ceased so that now
San Francisco is the most cosmopolitan place in America. Usually the newcomers from
one country settled together. In 1906 a terrible earthquake almost completely destroyed
the city, but soon it was rebuilt and continued to expand. Another powerful earthquake
took place in the fall of 1989 but this time the destructions were minimal due to
earthquake-proof construction of buildings. During World War 1l the city was the major
supply and embarkation ? port for the struggle in the Pacific 3. The United Nations
Charter * was drafted here in 1945.
2. Today San Francisco is an important financial center of the West. The major
industries include food-processing, ship-building, oil-refining and the manufacture of
metal products and chemicals. It is also an important cultural center with numerous
educational establishments, publishing firms, museums and theaters with symphony,
opera and ballet production.
3. Situated along the San Francisco Bay and among the steep hills which give the
whole urban skyline a picturesque effect, San Francisco is a colorful city of the lovely
vistas >, beautiful bridges (among these the famous Golden gate Bridge with a 4,200 —
meter span), richly decorated private mansions and imposing public buildings. Among
the many tourist attraction first and foremost is Chinatown with its ornate ° Oriental
architecture — the largest Chinese community outside China. One of its striking features
is that on the street — level it consists almost entirely of shops with dwelling—rooms
above or below.

VII. Mpoyntante 3 ab3al TeKCTa U MMCbMEHHO OTBETLTE HA BOMPOCHI.
1. Where is San Francisco situated?

2. What is the most famous bridge of San Francisco?

3. What is Chinatown?

4. What does Chinatown consist of?

5. What are dwelling-rooms situated?

KoHTponbHoe 3agaHne Ne2
[ns Toro 4ToObl NPaBUIIbHO BbINOSIHUTL 3agaHne Ne2 Heob6XxoaANMO YCBOUTL
crneayloLwmne pasgernbl Kypca aHrMnCcKoro s3blka No peKOMeH40BaHHOMY YYeOHUKY:
1. BugoBpeMeHHble doOopMbl rnarona:
A) akTuBHbIN 3anor — popmbl Indefinite (Present, Past, Future); dopmbl Continuous
(Present, Past, Future); dopmbl Perfect (Present, Past, Future);
B) naccueHbIN 3anor — popmbl Indefinite (Present, Past, Future).
OcobeHHOCTU NepeBofa NAaCCUMBHbLIX KOHCTPYKLMIA Ha PYCCKUN A3bIK.
2. MoganbHble rnaronbl U UX 3KBMBANeEHThI (Can, may, must)
3. MNpocTtble Henu4YHble hopmbl rnarona: Participle |, Participle 1l B doyHKLmmn
onpegeneHusa n obecroatenncrea. Gerund — repyHani, NpocTbie OPMbI.

Wcnonb3ayite cnegytowme obpasubl BbIMOMHEHUS YIIPAXXHEHUN.



O6pasel, BbinonHeHus 1 (k ynp. |)

a) Lobachevsky’s geometry had a) N'eomeTtpun4a Jlobayesckoro npomseena
revolutionized mathematics and the KOpEeHHOEe U3MeHeHNe B MaTeMaTuke 1
philosophy of science. domnocogum Hayku.

had revolutionized — Past Perfect Active oT rnarona to revolutionize
6)These data are often referred to. 6) Ha 3Tn gaHHble YacTo ccbinatTcs.

are referred to — Present Indefinite Passive ot rnarona to refer to.

O6pasel, BbinonHeHus 2 (k ynp. |)

1.The changes affecting the N3meHeHusa, BNuaLmne Ha cocTaB
composition of materials are called MaTepuanos, Ha3bIBalOTCSA XMMUYECKUMU
chemical changes. N3MEHEHNAMM.

Affecting - Participle |, onpegenenue.
Called - Participle Il, coctaBHas 4yactb BMagoBpemeHHon hopmbl Present Indefinite
Passive oT rnarona to call.
2.When heated to the boiling Korga Bogy HarpeBatoT 4O TOYKM KMNEHUS!, OHA
point water evaporates. ncnapsietcs. (Mpwu HarpeBaHMM 40 TOYKM KMNEHUSA BoAa
ncnapsietcs).
(When) heated- Participle I, o6cTosaTensCcTBO.

BapwuaHT 1

I. MepenuwunTte cnegyowme npeanoXeHns; NogYEePKHUTE B KaXXOOM U3 HUX rnaron-
ckasyemoe 1 onpegennte ero BUAOBpeMeHHyo chopmy u 3anor. [Nepesegute
npeanoXeHus Ha pycckumn a3bik. B pasgene (6) o6patute BHMMaHWe Ha NepeBoa
MaCCUBHbIX KOHCTPYKLINA.
a.)1l. Radio astronomy has given mankind efficient means for penetration into space.

2. The liquid in the tube is boiling.
6.)1. Becquerel’s discovery was followed by an intensive research work of Marie and

Pierre Curie.
2. Heat energy is transmitted in two different ways.

[I. MepenuwnTte cnegyowme npegnoxeHus; nogyepkHute Participle | n Participle 1l n

yCTaHOBUTE PYHKLNN KaXKOOr0 U3 HUX, T.€. YKaXUTe, ABMSETCA NI OHO onpeaerieHneM,

00CTOATENBCTBOM MMM YaCTbIO rnarofna-ckasyemoro. [epeseanTte npegnoXxeHus Ha

PYCCKUN A3bIK.

1. Nylon was the first synthetic fiber used in clothing.

2. The atoms forming our planet are built of negative electrons, positive protons and
ordinary neutrons.

3. This kind of treatment when used makes the metals heat-resistant.

4. When passing through an electroscope, X-rays cause its discharge.

[ll. MepenuwnTte cnegytowme NpeasioXeHns, NogYepKHUTE B KaXKOOM U3 HUX
MOAAarbHbIN rfaron UnNu ero akeBmMBaneHT. lNepeBeguTe NpeasioXKeHNa Ha PYCCKUIM A3bIK.
1. Man-made satellites had to use solar cells as a source of power.

2. They could easily define the properties of this material.

3. The lecture is to begin at 6 o’clock.

4. Atoms should serve mankind.



IV. MNpountante n ycTHo nepeseamte ¢ 1-ro no 3-n abaaubl Tekcta. MNepennwmTe n
NMCbMEHHO nepeBeauTe 2-n 1 3-n ab3aupl.
[MoACHEeHUA K TEKCTY:
. Herman Helmholtz- N'epmaH "'enbmronsu,.
. celebrated- 3HaMeHUTbIN, NPOCNABNEHHbIN.
. ophthalmoscope- ogpTansmockorn.
. color-blindness- ganbToHM3M, HECNOCOBHOCTL rMNasa pasnuMyaTb HEKOTOPbIE LBeTa.
. through- n3-3a, 6narogaps.
. vortex motion- BUxpeBoe ABWXEHUE.
. versatile- pa3HOCTOPOHHUIN, MHOTOCTOPOHHUN.
. ultimately- B KOHEYHOM CHETE, B KOHLIE KOHLIOB.

O~NO O WN P

Herman Helmholtz' (1821-1894)
1. Herman Helmholtz is celebrated? for his contributions to physiology and theoretical
physics. A delicate child, Helmholtz early displayed a passion for understanding things,
but otherwise developed slowly, and had no marked early talent for mathematics.
Although he wished to study physics, he was persuaded by his father to take up the
study of medicine, entering the Medical Institute at Berlin in 1838.
2. His researches into physiological optics began about 1850 with the discovery of the
ophthalmoscope?, followed by investigations into colour, including the problem of
colour-blindness®. He also made fundamental contribution to the understanding of the
structure and mechanism of human eye.
3. Helmholtz’s first and most celebrated paper in theoretical physics was his article on
the conservation of forse. In this paper he proved the conservation of total energy of a
system of particles which were interacting through® central forces depending only on the
masses and separations of the particles. Other important work in theoretical physics
included famous paper on vortex motion® and the application of the principle of least
action to electro dynamical problems.
4. Helmholtz was undoubtedly the most versatile’ of nineteenth-century scientists.
From 1871 onwards he was perhaps more famous as a theoretical physicist than as a
physiologist. But it seems probable that apart from his work on the conservation of
energy he will ultimately® be remembered more for his epoch-making researches in
physiological optics and acoustics in which his talents as physiologist, physicist,
mathematician and experimentalist of genius were most vividly displayed.

V. MNMpouunTtante 1 ab3al TEKCTa U NMCbMEHHO OTBETBLTE Ha BOMPOCHI.
1. What is Herman Helmholtz celebrated for?

2. What did he early display a passion for?

3. Did he have marked early talent for mathematics?

4. What did his father persuade him to study?

5. Where did he study?

BapwuaHT 2
I. MepenuwnTe cnegyowme npeanoXeHns, NogYepKHUTE B KaXXO0M M3 HUX rnaron-
ckasyemoe 1 onpegenute ero BugoBpemMeHHyto hopmy u 3anor. Nepesegute
npennoXxeHus Ha pycckumn sa3bik. B pasgene (6) obpatute BHMMaHWe Ha NepeBos
MaCCMBHbIX KOHCTPYKLIWA.
a).1l. Today scientists are still looking for the substances as a source of energy.
2. The Mendeleyev system has served for almost 100 years as a key to discovering
new elements.
6).1. The intensity of this process is influenced by many factors.



2. We were told about the pyramids of Egypt most of which were constructed about
6.000 years ago.

II. MepenuwnTe cneayowme npegnoxeHus, nogyepkHuTe Participle | n Participle 1l n
YyCTaHOBUTE (PYHKLMKN KaXXO0ro 13 HMX, T.e. yKaxute, sBMSETCS N OHO onpeaeneHnem,
00CTOATENBLCTBOM MW YacTbio rnarona-ckasyemoro. lNepeseavTte npegnoXxeHus Ha
PYCCKUN A3bIK.

1. While absorbing the energy of cosmic rays the upper atmosphere becomes
radioactive.

2. Unless properly treated the metal must not be applied for space technology

3. A body moving with a certain velocity carries within itself the kinetic energy of motion.
4. Elements placed by Mendeleyev in the same vertical column have similar properties.

. MNepenuwmnTe cneaytowwmne npeanoxXeHnsa, NOAYEPKHNUTE B KXKOOM U3 HUX
MOZarbHbIN rnaron unu ero akBmBaneHThbl. [lepeBeanTe NpeanoXeHnss Ha PyCcKun
A3bIK.

1. Energy can exist in many forms and each form can be transformed into the other.
2. The computers should become an integral part of the organization of industrial
processes of all types.

3. These metal parts had to be subjected to x-ray examination.

4. There are several kinds of fishes, which are able to generate electricity strong
enough to run an electric motor.

IV. MNpountante n yctHo nepeseamte ¢1 no 3-n abaaubl Tekcta. MNepenuwmnte n
nMcbMeHHO nepeseanTe 2 n 3-i absaubl.
[MoACHEHUSA K TEKCTY.
1. honorary board — gocka cnaBbl, NOY4ETa
2. in compiling this — cobunpas Bce dakTbl  MaTtepmansl
3. some sixty in all — Bcero okono wectngecstm
4. verbally — ycTHO.

D.I. Mendeleyev (1834-1907).
1. A Russian name appeared in 1964 on the honorary board* of science at Bridgeport
University, USA: Mendeleyev was added to the list of the greatest geniuses — Euclid,
Archimedes, Copernicus, Galiley, Newton and Lavoisier. D. I. Mendeleyev, the explorer
of nature, is the greatest chemist of the world. The Mendeleyev system has served for
almost 100 years as a key to discovering new elements and it has retained its key
capacity until now.
2. D. . Mendeleyev was the fourteenth, and last child of the director of the Gymnasium
at Tobolsk. At 16 he was taken by his mother to St. Petersburg to seek higher
education. He entered the Pedagogical Institute where his father has also studied. In
1856 he took a degree in chemistry and in 1859 he was sent for further training. He
returned to St. Petersburg in 1861 as Professor of chemistry.
3. In 1868 Mendeleyev began to write a great text-book of chemistry, known in its
English translation as the “Principles of chemistry”. In compiling this? he tried to find
some system of classifying the elements — some sixty in all* then known — whose
properties he was describing. This led him to formulate the Periodic Law, which earned
him lasting international fame. He presented it verbally” to the Russian Chemical
Society in October 1868 and published it in February1869.
4. In this paper he set out clearly his discovery that if the elements are arranged in
order of their atomic weights, chemically related elements appear at regular intervals.
The greatness of Mendeleyev’s achievement lies in the fact that he had discovered a



generalization that not only unified an enormous amount of existing information but
pointed the way to further progress.

V. MNMpounTtainte 1 n 4 ab3aubl TEKCTA U NUCbMEHHO OTBETLTE HA BOMPOCHI.

1. Whose name appeared on the honorary board of science at Bridgeport University,
USA, in 19647

2. What is D. I. Mendeleyev?

3. What purpose has the Mendeleyev system served for almost 100 years?

4. What did Mendeleyev discover?

5. What does the greatness of Mendeleyev’s achievement lie in?

BapwuwaHT 3

I. MepenuwnTe cnegyowme npeanoXeHns, NogYepKHUTE B KaXXOOM M3 HUX rnaron-
ckasyeMoe 1 onpegenute ero BugoBpeMeHHyto hopmy 1 3anor. Nepesegute
npegnoXxeHus Ha pycckumn a3blk. B pasgene (6) obpatute BHMMaHWe Ha nepeBos
NMaCCUBHbIX KOHCTPYKLINA.
a) 1. Scientists have found ways of measuring the sizes and positions of bodies in the
Universe.

2. The laboratory assistant was writing down all the data during the experiment.
6) 1. The launching of Sputnik 1 was followed by many achievements in science and

engineering.
2. Mendeleyev was appointed Rector when he was 35 years old.

II. MepenuwnTte cnegyowme npegnoxenus, nogyepkHute Participle | n Participle 1l n
YyCTaHOBUTE (PYHKLMKN KaXXO0ro U3 HMX, T.e. yKaxute, ABMAsSETCs N OHO onpeneneHnem,
00CTOATENBLCTBOM MM YaCTbIO rnarofna-ckasyemoro. [epeseanTte npegnoXxeHus Ha
PYCCKUN A3bIK.

1. These reactions convert hydrogen into helium, giving off a great amount of light and
heat.

2. Soils containing too much sand or clay are of less value in agriculture.

3. Plastics articles are often difficult to repair if broken.

4. The amount of heat generated depends on the quality of fuel used.

. MNepenuwunTe crneayowwme npeanoxXeHnsa, NOAYEPKHNUTE B KXKOOM U3 HUX

MOZAasbHbIA rnaron UNu ero aKBMBaneHTobl. [NepeBeanTe NpeanoXeHnst Ha PycCKnn

A3bIK.

1. These new materials had to withstand much higher temperatures than metals.

2. Laser light can be used to transmit power of various types.

3. This equipment should be tested in various conditions.

4. The consequences of the pollution of the atmosphere by different products are to be
carefully studied.

IV. MNpountante n yctHo nepeseaute ¢1 no 3-n ablaubl Tekcta. MNepenuwmnte n
nMcbMeHHO nepeseaute 2 n 3-1 ab3aupl.
[MOSICHEHUS K TEKCTY:
1. Meitner - ManTHep
2. doctorate — goKkTopckasa cTeneHb
3. then available — goctynHble B TO Bpems
4. illustrious — npocnaBneHHbIN, N3BECTHbIN
5. productive — nNogoOTBOPHbIN.



Lise Meitner?
1. In 1938, an Australian physicist named Lise Meitner announced the splitting of the
atom in the laboratory. That announcement confirmed once again the beginning of the
Atomic Age. At that time Lise Meitner was one of the few persons in the world who had
a thorough understanding of atomic energy and the uses which could be made of this
great power.
2. Lise Meitner, the daughter of a lawyer, was born in Vienna on the 17th of November
1878. She grew interested in science when she read of the Curies discovery of radium.
The example of Marie Curie showed that a woman was able to achieve something in
science. Lise Meitner became the first woman in the history of the University of Vienna
who earned her doctorate? in physics.
3. In 1906 she went to the University of Berlin to continue her studies by attending the
theoretical lectures of Max Planck and by doing experimental work. Then she began her
research in the new field of radioactivity. She focused her attention on the behavior of
beta radiation from radioactive elements, experimenting with the primitive methods then
available® for measuring and analyzing radioactivity.
4. In 1938 she left Germany for Sweden. Lise Meitner declined to work on the
development of the atom bomb remaining in Sweden throughout the war. She was
concerned with the properties of new radioactive isotopes, produced by the cyclotron.
Her career was illustrious® and productive® (she published more than 135 scientific
papers), but throughout her life she remained a shy person, with a deep interest in
music. Her devotion to science had been total. She never married. In 1960 she moved
to Cambridge, England, where she died in 1968.

V. MNMpounTtante 1 n 4 ab3aubl TEKCTA U NUCbMEHHO OTBETLTE HA BOMPOCHI.

1. What was Lise Meitner?

2. What did she do in 19387

3. Did she work on the development of atom bomb?
4. What was she concerned with?

5. What kind of person was she?

BapuaHT 4

l. MepenuwunTe cnegyowme npeanoXeHns, NogYEePKHUTE B KaXXOOM U3 HUX rnaron-
ckasyeMoe 1 ornpefenute ero BugoBpemMeHHyto hopmy 1 3anor. Nepesegute
npeanoXeHns Ha pycckum a3bik. B pasgene (6) obpatnte BHMMaHve Ha NnepeBos
NaCCUBHbBIX KOHCTPYKLIWA.
a) 1. Quantum mechanics has greatly influenced the nuclear theory.

2. The workers were mounting the new machine-tools from 5 to 7 o’clock.
6) 1. Many compounds can be decomposed when they are acted upon by different

forms of energy.
2. The engineers were asked to make an experimental model of the device.

II. MepenuwnTte cnepyowme npegnoxeHus, nogyepkHute Participle | n Participle 1l n

yCTaHOBUTE (PYHKLMKN KaXO0ro U3 HMX, T.e. yKaxute, sBNsSeTCs N1 OHO onpeaeneHnem,

00CTOATENBCTBOM MMM YaCTbIO rnarofna-ckasyemoro. [lepeseanTte npegnoXxeHus Ha

PYCCKUN A3bIK

1. Natural rubber is a thermoplastic material that becomes soft when heated and hard
when cooled.

2. Matter composed of any chemical combination of elements is called a compound.

3. The smallest particle having all the characteristics of an element is called an atom.



4. While bombarding the upper layers of the atmosphere, cosmic rays reach the surface
of the earth.

. TlepenuwmnTe cneaytowmne npeanoxXeHnsa, NOAYEPKHUTE B KXKOOM U3 HUX
MOZarnbHbI rnaron unu ero akBmBaneHTol. [lepeBeante nNpeanoXeHnss Ha PyCcKun
A3bIK.

1. A great number of plastics should find their application in the electric industry.

2. Chemical means had to be used for the separation of compounds into their elements.
3. No man is able to do 500.000 sums in one second but a computer can.

4. Any atomic station can be built in any region where its power is to be used.

IV. MNpountante n yctHo nepeseamte ¢1 no 3-n abaaubl Tekcta. MNepenuwimnte n
nMcbMeHHO nepeseanTe 2 n 3-i absaubl.
[MoACHEHUA K TEKCTY:
. Raman - PamaH
. pre-eminent — BblgarOLWMIACA, NPEBOCXOOALNN OAPYTNX
. the Civil Service — rocygapcTBeHHasa cnyxba
. to appoint to a position — Ha3Ha4YMTb Ha AOMKHOCTb
. to testify to — cBugeTenscTBoBaTh O
. to occupy the chair — Bo3rnaBnatb kadeapy, 3aBefoBath kKadenpon
. brought — 3. npnBnék
. to emerge — 34. nposBUTL ceds.

O~NO OIS WN P

Ch. Raman'(1888-1970)
1. Raman was an Indian Physicist, pre-eminent® in molecular spectroscopy and
acoustics. He created the Indian Academy of sciences in 1934 and was its president
until his death in 1970. He was justly considered the father of Indian science and the
Indian Government honored him with the first of its National Professorships. In 1957 he
became an International Peace Prize Winner.
2. The son of a teacher and lecturer, Raman entered the College in Madras in 1903
and achieved the highest distinctions in the examinations for scientific degrees. As
scientific research was at this time almost completely neglected in India, he then
entered the CivilService® and was appointed to a position in the Finance Department in
1907. He retained this employment for ten years, mostly in Calcutta. When he was
eighteen years old he published his first original optical research in the “Philosophical
Magazine”. He continued scientific work in his spare time: some thirty papers testified
to® his ability and energy and helped to make his name familiar to scientists in Europe
and America.
3. In 1917 Raman was offered the professorship of physics at the Calcutta University.
He occupied the chair® from1917 to 1933. Raman brought’ to Calcutta many talented
young Indians to undertake research into optical phenomena, acoustics and other
branches of physics.
4. During the years in Calcutta Raman Emerged? as a truly international figure. In 1930
he was awarded the Nobel Prize in Physics (for his work on the discovery of the effect
named after him). Raman was honored by universities and scientific institutions in
Russia, Europe and America as well as in his own country.

V. Mpountante 1 n 4 ab3aubl TEKCTa N MMCbMEHHO OTBETLTE Ha BOMPOCHI.
1. What was Raman?

2. What did he create?

3. Was he considered the father of Indian science?

4. What was he awarded the Nobel Prize for?



5. What universities and institutions honored him?

BapuaHT 5

I. MepenuwunTte cnegyowme npeanoXeHus, NogYEPKHUTE B KaXXOOM U3 HUX rnaron-
cka3yeMoe 1 onpegenute ero BugoBpeMeHHyto hopmy u 3anor. Nepesegute
npennoXxeHus Ha pycckum sa3bik. B pasgene (6) obpatute BHMMaHWe Ha NepeBos
MaCCUBHbIX KOHCTPYKLINA.
a) 1. Astronomers have measured the exact length of the day.

2. Astronomers find that the day is increasing by 0.002 seconds each century.
6) 1. As a rule one great discovery is generally followed by numerous others.

2. We were shown a new alloy, which will be used, in modern technology.

II. MepenuwnTte cneyowme npegnoxenus, nogyepkHuTe Participle | n Participle 1l n

YyCTaHOBUTE (OYHKLUKN KaXO0ro U3 HUX, T.e. yKaxuTe, ABMseTCs M OHO onpeaeneHneMm,

00CTOATENBLCTBOM MM YaCTbiO rnarona-ckasyemoro. [epeseanTte npegnoXeHuns Ha

PYCCKMI

1. Matter consists of one or a number of basic elements occurring in nature.

2. One can use several modern devices while detecting and measuring radioactivity.

3. When heated to a certain temperature this alloy increases in volume.

4. This cloud chamber (kamepa BunbcoHa) is one of the devices used to detect the
presence of radioactivity.

[ll. MepenuwnTe cnegyowmne NPeanioxKeHns, NOgYEPKHUTE B KXXAOM U3 HUX

MoZarnbHbIN rnaron unu ero akBmBaneHTol. [epeBeanTte NpeanoXeHnss Ha PyCcKUn

A3bIK.

1. A computer can solve complicated problems many times faster than a

mathematician.

2. A new type of plastics had to be obtained for space technology.

3. To measure the vast distances between different planets scientists have to use
special instruments.

4. The nuclear-rocket engine should be thermally efficient.

IV. MNpountante n yctHo nepeseaute ¢1 no 3-n ablaubl Tekcta. MNepenuwmnte n
nMcbMeHHO nepeBeaute 2 n 3-1 ab3aupl.
[MOSICHEHUS K TEKCTY:
. Powell - Mayann
. particle physics — omsmka aneMeHTapHbIX YacTuL
. the Pugwush Conferences — Naryowckue koHdepeHuunn
. were determined — 6bIf1 NOMHbI PELLMMOCTH
. won a scholarship — nony4yun (No KOHKypcy) CTUNEHANIO
. position — AOMKHOCTb
. sub-nuclear particle — cybbsigepHas yactuua.

~No b~ WNPE

C.F. Powell! (1903-1969).

1. Powel was a prominent English scientist noted for his techniques and discoveries in
particle physics?. He was also deeply concerned with problems relating to the social
responsibility of scientists. Powell was a leader in the World Federation of Scientific
Workers in the mid-1950’s and was a founder of the Pugwish Conferences® on Science
and World Affairs in 1957. As a public man and in his published articles Powell stressed
the perils of destructive weapons and the need for international cooperation.

2. Powell was born in December 1903 in England. His parents were poor and they
were determined” to give their children a good education to increase their opportunities



for a better life. In 1921 Powell won a scholarship® of one of the colleges at Cambridge
which he graduated in 1925 with first-class honors in science. He started his scientific
career at the Cavendish laboratory headed by Ernest Rutherford. After gaining his
scientific degree at Cambridge in 1928 Powell accepted a position® at the Physics
laboratory in the University of Bristol. Powell spent the rest of his career there
advancing to professor in 1948 and director of the laboratory in 1964.

3. In 1947 Powell’s Bristol group identified a new particle in the cosmic radiation.
Powell and other two scientists discovered the t-meson and demonstrated that this sub-
nuclear particle’ was produced directly in nuclear reactions and rapidly decayed in
flight, producing the u-meson. The discovery solved a complicated scientific problem
and helped open a new era of particle physics.

4. Powell continued to develop and apply the photographic method of Bristol. His
laboratory became the source of new experimental discoveries in meson physics and
an international training center for physicists of many countries. In 1950 he was
awarded the Nobel Prize for his development of the photographic method and his
meson discoveries.

V. MNMpounTtante 1 n 4 absaubl TEKCTA U NUCbMEHHO OTBETLTE HA BOMPOCHI.
1. What was Powel noted for?

2. What problems was he concerned with?

3. What did he stress in his published articles?

4. Whose laboratory became the source of new experimental discoveries?
5. What was Powel awarded the Noble Prize for?

KoHTponbHoe 3apgaHue 3
UTo6bl NpaBunbHO BbINOMHUTL 3adaHue 3, Heo6xo4MMOo YCBOUTL criegytoLume
pasgenbl Kypca aHrIMNCKOro A3blka N0 peKkoMeHAOBaHHOMY y4eOHUKY:
1. M'pammaTuyeckme oyHKUMN 1 3Ha4YeHns cnos that, one, it.
2. NaccueHbin 3anor (the Passive Voice) BuaoBpemeHHbIX oopm Indefinite, Continuous,
Perfect.
3. dyHKkuum rnaronos to be, to have, to do.
4. pocCTble HeNMMYHbIE POopMbI rnarosna.
NHPUHUTMB B pyHKLNN
a) nognexatyero,
6) cocTaBHOM YacTu cka3yemoro,
B) onpeaeneHus,
r) obcroaTenncrea Lenu.

5. beccoto3Hoe NogYnHEHNE B onpeaenuTenbHbIX U JONONHUTENbHbBIX MPUAATOYHbIX
NpeanoXeHnsX.
Ncnonb3yrite 06pasubl BbIMOMHEHUS YNPaXXHEHUN.
O6paseu BbinonHeHus 1 (k ynp. |)
Present Perfect Passive
The main question has already been ["MaBHbIN BOMpPOC yxe obcyannu.
discussed.

Present Indefinite Passive

His scientific work is much spoken about. O ero Hay4yHoW paboTe MHOro roBopsT.



O6paseuy BbinonHeHus 2 (k ynp. 11)

1. It is necessary to use the latest means Heobxoanmo ncnonb3osBathb B

of control in industry. NPOMbILLIIEHHOCTN HOBENLINE cpeacTaa
KOHTpONs

2. One should agree that that experiment  Cnefgyet cornacuTtbCsi, YTo TOT

was of great importance for our research.  akcnepumeHT nmen 6onblUOe 3HaYeHne
ANsi HaLWero nccrnegoBaHus.

3. It is hydrogen that will be the main NmeHHO BOgOpOA OyaeT OCHOBHbIM
source of energy in the car of the future. NCTOYHMKOM 3HEPrMM B aBToMobune
oyaywiero.

O6paseu BbinonHeHus 3 (k ynp. V)

1. What is the name of the book you are Kak Ha3blBaeTcs KHUra, KoTopyto Tbl
reading? ynTaewnb?

2. The region you must explore possesses PanoH, KOTOPbIN Mbl JOSDKHbI

great natural wealth. nccnegoBatb, 0bnagaeT OrpoOMHbIMU

NPUPOAHBLIMU pecypcamu.

BapwuaHrT 1.
I. MepenuwuTe cnegyowme npeanoXeHus, onpeaenure B Kaaom u3 HMX
BMOOBPEMEHHY dOpMYy M 3anor rrarona-ckasyemoro (cMm. obpasel). NepeseanTte
NpeanoXeHNs Ha PyCCKUM A3bIK.
1. When much materials had been looked through and some problems had been
solved, the article was published.
2. Electric cars will be widely used in future.
3. Today plastics are being applied for car bodies (kopnyc aBTomobuns).
4. This lecturer is listened to with great interest.
[I. MepenuwunTte cnegyowme npeanoXeHns u nepeseanTe Nx Ha PyCCKUn A3bIK,
obpallas BHMMaHWe Ha pasHble 3Ha4YeHus crnos it, that, one.
1. It is proved that light needs time to travel any distance.
2. One must take part in scientific work.
3. Specialists consider that in future city transport will reject gasoline.

[ll. MepenuwunTe NpegnoXeHns 1 NepeBeanTe NX Ha PyCCKUIM A3blK, obpallas BHUMaHWe
Ha pas3nuyHble 3Ha4YeHus rnaronos to be, to have, to do.

1. Scientists had to create new materials for industry.

2. This material does not possess elastic properties.

3. This material has many valuable properties.

4. He was to get these data yesterday.

IV. MNepenuwunTte cneayowme NpeanoXeHus 1 nepeBeamTe UX Ha PYCCKUA A3bIK,
obpaluasa BHMMaHMe Ha 6eccoo3Hoe NogUYMHEHME.

1. We know electricity produces heat.

2. The new materials chemists developed were used in space technology.

V. MNMepenuwnte cnegyowme npennoxeHus u nepeseante nx Ha PycCcKnn A3blk,
obpaluasa BHMMaHMe Ha (PYHKUUIO MHMHUTMBA.
1. They were to install the new equipment.



2. The metal to be used in the experiment is to be hard.
3. To reinforce the metal engineers use artificial fibers.
4. To operate this complex device is rather difficult.

VI. MpounTtante n nepeseagute ¢ 1 no 3-1 absaubl TekcTa. lNepenuwnte n NMCbMEHHO
nepesegute 2, 3 n 4-n absaubl.
[MosiCHEHUSA K TEKCTY:
1. for the most part — 6onbLUEN YaCTbIO
2. in this respect — B 3TOM OTHOLUEHUMU
3. as to — 4YTo KacaeTcs
4. by far — HeCOMHEHHO.

Better metals are vital to technological progress.
1. Since the earliest days the preparation of metals for mechanical use was vital to the
advance of civilization. Gold, silver and copper were the first to be used by a primitive
man, as they were found free in nature. Today we know more than sixty-five metals
available in large enough quantities to be used in industry.
2. Metals are mostly solid at ordinary temperature and possess comparatively high
melting points with the exception of mercury. They are for the most part* good
conductors of heat and electricity, and silver is the best in this respect?. As to® their
chemical properties the first point to be mentioned is that they vary widely in degree of
chemical activity: some are enormously active and others are inert. The Earth contains
a large number of metals useful to man. Of all metals to be utilized in industry iron
remains by far* the most important. Modern industry needs considerable quantities of
this metal either in the form of iron or steel.
3. To get the desirable characteristics in metals or to improve them the art to mix
metals and other substances began to develop. The first alloys that were formed in this
way were sometimes stronger, tougher, harder and more elastic than the metals of
which they were composed. To estimate nowadays how many alloys there exist in the
modern world is difficult because their numbers increase daily.
4. To serve special uses modern metals and alloys must be lighter yet stronger, more
corrosion-resistant, more suitable for automated fabrication yet less expensive than
those available before.
5. Today transformation, communication, construction, farming and manufacturing all
depend on the availability of suitable metals and alloys.

VII. Mpountante 1 n 2-n ab3aubl TEKCTA U OTBETLTE HA BOMNPOCHI MUCbMEHHO.

1. What was vital to the advance of civilization?

2. What metals were the first to be used by a man?

3. Why were they used first?

4. How many metals are available in large quantities today?

5. What do transportation, communication, construction and manufacturing depend on?

BapwuaHT 2
I. MepenuwunTe cnepyowme npeanoXeHus, onpeaennte B KaXXaoM U3 HUX
BMAOBPEMEHHY0 hopMy U1 3arnor rnarona-ckasyemoro (cM. obpasel). lNepeseante
NPeanOXeHUs Ha PYCCKUIM A3bIK.
1. When much had been done in the study of ecology by our institute it became an
important scientific center.
2. This material is unaffected by solar radiation.
3. During the experiment the air in the laboratory was being purified by two ventilators.
4. Great deposits of coal have been discovered in our region.



[l. MepenuwunTe cnegyowme NpeanoXeHns N nepeBeamTe Nx Ha pPyCcKkni A3bik,

obpalasn BHMMaHWe Ha pa3Hble 3Ha4YeHna crnos it, that, one.

1. It is necessary to find new sources of cheap energy.

2. It was Einstein who came to the conclusion that the electromagnetic field is
influenced by the gravitational field.

3. This metro station was opened last year and that one will be put into operation in two

years.

. MepenuwmnTe NpennoXeHns n nepeBeanTe NX Ha PYCCKMA A3blK, obpallas BHUMaHWe
Ha pasnuyHble 3Ha4YeHus rraronos to be, to have, to do.

1. Man had to learn to obtain electric power directly from the Sun.

2. At present most of the industrial enterprises have their own electric power stations.

3. Specialists do not use solar cells in industry as they are too expensive.

4. The engineers are to study the problem of using cosmic rays.

IV. MNMepenuwnTte cnegyowme npeanoxeHnst U NnepeBeanTe Nx Ha Pycckum a3blk,
obpaluasa BHMMaHMe Ha 6eccoto3Hoe NogUYMHEHME.

1. The methods we have just described are very effective.

2. The instruments our plant produces help to automate production processes.

V. MNepenuwunTe cnegyowme npeanoxXeHnus u nepeeBeanTe NxX Ha pycckum s3blk,
obpallasa BHMMaHMe Ha (PYHKUUIO MHPUMHUTMBA.

1. We hope to get new data in a week or two.

2. A number of devices were developed to detect cosmic rays.

3. He spoke about the fuels to be utilized in space research.

4. To operate new flexible line became possible thanks to computers.

VI. MpounTtante n nepesegute ¢ 1 no 3-n abaaubl Tekcta. lNepenuwmnte N NMCbMEHHO
nepesegute 2 n 3-1 ab3aupl.
[MOSICHEHUS K TEKCTY:
1. magneto — heat engine — MarHMTHO-TENMOBOW ABUraTeNb
2. inexhaustible — Hencyepnaembli, HEUCTOLLUMBIN.

Sun-driven engine
1. Itis common knowledge that certain metals and their alloys are attracted by a
magnet. After heating, this property vanishes; it is restored after cooling down. A new
magneto-heat engine® works on this principle. This invention relates to devices which
transform thermal power, for instance, the power of the sun rays, into a mechanical
power of rotation.
2. We know solar power is inexhaustible? and its use does not harm the environment.
That’s why such importance is attached to devices which make it possible to apply the
idea of direct use of solar power, transforming it into mechanical forms of power. The
development of an engine directly driven by a heat source such as solar power, makes
it possible to simplify and make power generation considerably cheaper, in comparison
to the existing thermal engines we use today.
3. The rotor of the new engine is made of an alloy that loses its magnetic properties at
100°C. If the rotor is heated on one side, the cold side of the rotor will turn toward the
magnet. Since heating continues, the rotor goes on rotating too. Thus solar power can
be used as a source of heat in this case. The magneto-heat engine can drive pumps in
waterless districts, it can also be widely used for watering greenery in cities and
settlements.



4. By using thermo-magnetic alloys it is possible to develop a lot of automatic devices,
for example, solar clocks, thermometers, etc. Mention should be made that these
devices can withstand extreme temperatures. To organize the production of the
necessary alloys is simple as there is no need for rare materials or complex technology.

VII. Mpountante 1 n 2-n ab3aubl TEKCTA N OTBETbTE HA BOMNPOCHI MUCbMEHHO.
1. What property do many metals and their alloys possess?

2. Where are magneto- heat engines used?

3. Where are thermo-magnetic alloys used?

4. What temperatures can these devices withstand?

5. Is it simple or difficult to produce such alloys?

BapwuaHT 3
I. MNepenuwunTe cnegyowme NpeanoXeHus, onpeaenute B KaXXaoM U3 HUX
BMOOBPEMEHHY dopMy M 3anor rrarona-ckasyemoro (cM. obpasel). NepeseanTte
NPeanOXeHUs Ha PYCCKUIM A3bIK.
1. The radar has been used for the automatic control of ground transport.
2. Today plastics are being widely used instead of metals.
3. The construction of the dam has been completed this month.
4. The alloys were experimented upon in our lab.

[I. MepenuwunTte cnegyowme npeanoXeHnsa n nepeseguTe NX Ha PyCCKUn a3blK,
obpallada BHMMaHWe Ha pasHble 3Ha4yeHus crnos it, that, one.

1. It is the number of electrons within the atom that determines the properties of a
substance.

2. The territory of Moscow is larger than that of London.

3. In London one must get used to the left-side traffic.

[ll. MepenuwmnTe NpeanoXeHnst U NepeBeanTe NX Ha PyCCKUI A3blk, obpallas BHUMaHNe
Ha pa3nunyHble 3Ha4YeHus rnaronos to be, to have, to do.

1. Some substances do not conduct heat

2. These computers will have to perform millions of operations per second.

3. He was asked to make a report.

4. You are to present the results of your research in a week.

IV. MNepenuwnte cnegyowme NnpennoXeHns n nepeBeanTe nx Ha PyccKknin A3blk,
obpauiasa BHUMaHue Ha 6ecco3Hoe Nog4YMHEHNE.

1. I think he has made a mistake in his calculations.

2. The heat a body contains is the kinetic energy of its molecules.

V. Mepenuwmnte cnegyowme npeanoxeHus n nepeseante nx Ha PyccKknin A3blk,
obpawasn BHMMaHne Ha PYHKUNIO UHPUHUTUBA.

1. They promised to supply us with the necessary equipment.

2. The experiment to be carried out is of great importance for our research.

3. To convert chemical energy into electrical energy we must use an electrical cell.
4. The task of the computer is to operate flexible line properly.

VI. MpounTtante n nepeseaute ¢ 1 no 4-1n absaubl TekcTa. lNepenuwnte n NMCbMEHHO
nepeseaute 1 n 2-n absaubl.
[MosicHeHMA K TEKCTY:
1. self-taught engineer — nHxxeHep camoy4ka
2. crossing — nepenpasa



3. a span — nNponérT, to span — nepekpbIBaTb

On bridge building
1. The history of Russian bridge building is closely connected with the name of Kulibin,
one of the most talented self-taught engineers®. From his early childhood Kulibin
showed a keen interest in all kinds of mechanical devices. To acquire skill and
knowledge became the boy’s greatest desire. But books were difficult to obtain in the
provincial town where he lived and there was no one to instruct him in mechanics. The
difficulties which he had to overcome seemed irresistible. But in spite of all that he
succeeded in going to Petersburg where he was appointed mechanic to the Academy of
sciences and since then spent all his free time and all his money on new inventions.
2. In Petersburg Kulibin undertook a very difficult engineering problem — to design a
bridge across the Neva as there was not a single permanent bridge in this city to
provide a crossing® at any season of the year. Kulibin was the first to think of spanning®
the river with an arched bridge. According to his plan the bridge was to have a single
span to leave a free water way for ships and barges. It was a daring idea: arched
bridges of similar construction had been built before but no engineer dared even to think
of constructing a bridge with a three hundred metre span.
3. After the model was completed it had to be submitted to a special commission set
up by the Academy of Sciences and invaded by foreign scientists and specialists at the
time of Catherine Il. They considered themselves to be much superior to Russian
people whose intellect and talent they utterly ignored.
4. In spite of general disbelief the testing of the model was a success. No failure
resulted even when a weight much greater than the maximum load was applied to the
bridge. In spite of the favourable conclusion no practical result followed.

VII. Mpountante 3 n 4-n ab3aubl TEKCTA U OTBETbTE HA BOMNPOCHI MMCbMEHHO.

1. What commission did the model have to be submitted?

2. What specialists invaded the Academy of sciences at the time of Catherine 11?
3. Did they consider themselves much superior to Russian people?

4. Was the testing of the model a success?

5. Did practical result follow?

BapwuaHT 4
I. MepenuwunTe cnepyowme npeanoXeHus, onpeaennte B KaXXaoM U3 HUX
BMAOBPEMEHHY0 hopMy U1 3anor rnarona-ckasyemoro (cM. obpasel). lNepeseante
NpeanoXeHns Ha pyCCKUi A3blK.
1. The automatic equipment is being installed in our shop.
2. Radioactive isotopes have been made in nuclear reactor.
3. The construction of this house will be completed in a month.
4. The engineer was asked about the new technology used at the plant.

II. MepenuwnTe cneyowwme NpeanoXxeHus n nepeseanTe Nx Ha PyCCKUn A3bik,
obpawasn BHMMaHWe Ha pa3Hble 3Ha4YeHna crnos it, that, one.

1. The success in chemistry made it possible to obtain a lot of new materials.

2. One must apply the materials that can be machined easily.

3. It is the energy of falling water that is used to drive turbines.

[ll. MepenuwmnTe NpennoXeHns n nepeBeanTe NX Ha PYCCKUM A3blk, obpallasa BHAMaHWe
Ha pa3nunyHble 3Ha4YeHus rrnaronos to be, to have, to do.

1. The operators dealing with radioisotopes must have protective suits.

2. The engineers are to study the problem of using solar energy.



3. We had to use a computer to make these calculations.
4. One never knows what he can do.

IV. MNepenuwunTte cneayowmne NpeanoXeHus 1 nepesegmTe Ux Ha PyCCKum A3bIK,
obpawasn BHMMaHne Ha 6eccoro3Hoe nogvMHeHne.

1. I think the drawing will be ready by tomorrow.

2. The phenomenon Roentgen discovered is widely used in medicine.

V. MNepenuwuTe crnegyowue NpeanoxXeHus 1 nepesegnTe X Ha PYCCKUM A3bIK,
obpaluasa BHMMaHMe Ha (PYHKUUIO MHOMHUTUBA.

1. To design new buildings is the work of an architect.

2. To measure volumes we must know the dimensions of a body.

3. The purpose of this book is to describe certain properties of metals.

4. She is leaving for the conference to be held in Moscow.

VI. MpounTtante n nepeseaute ¢ 1 no 4-in abaaubl Tekcra. lNepennwunte N NMCbMEHHO
nepeseaute 1 n 3-n absaubl.
[MoACHEHUA K TEKCTY:
1. to propel — npuBoAUTL B ABMXEHMNE
2. self-propelled — camoxoaHbIn, camoaBMXKYLLMNCS
3. engine — malunHa, gsuraTensb.

The early days of the automobile
1. One of the earliest attempts to propel® a vehicle by mechanical power was
suggested by Isaac Newton. But the first self-propelled? vehicle was constructed by the
French military engineer Cugnot in 1763. He built a steam-driven engine® which had
three wheels, carried two passengers and ran at maximum speed of four miles. The
carriage was a great achievement but it was far from perfect and extremely inefficient.
The supply of steam lasted only 15 minutes and the carriage had to stop 100 yards to
make more steam.
2. From 1800 to 1900 was a period of the application of gasoline engines to motor cars
in many countries. The first to perfect gasoline engine was N. Otto who introduced the
four-stroke cycle of operation. The cars of that time were very small, two-seated cars
with no roof, driven by an engine placed under the seat. Motorists had to carry large
cans of fuel and separate spare tyres, for there were no repair or filling stations to serve
them.
3. After World War | it became possible to achieve greater reliability of motor cars,
brakes became more efficient. Multi-cylinder engines came into use, most commonly
used are four-cylinder engines.
4. Like most other great human achievements, the motor car is not the product of any
single inventor. Gradually the development of vehicles driven by internal combustion
engine-cars, as they had come to be known, caused huge capital flow into the
automobile industry. From 1908 to 1924 the number of cars in the world rise from 200
thousand to 20 million; by 1960it had reached 60 million! No other industry had ever
developed at such a rate.

VII. Mpountante 3 n 4-n ab3aubl TEKCTA N OTBETbTE HA BONPOCHI MMCbMEHHO.
1. Was the motor car the product of any single inventor?

2. What vehicles were developed gradually?

3. What did the development of these vehicles cause?

4. How many cars were manufactured in 19607?

5. Had other industry ever developed at such a rate?



BapuaHT 5
|. MNepenuwuTe cneayoLwme NpeanoxeHus, onpegenute B KaXXaoM U3 HUX
BMOOBPEMEHHYI0 dOpMY M 3anor rrarona-ckasyemoro (cM. obpasel). Nepeseante
NpeanoXeHUs Ha PYCCKUIN A3bIK.
1. The sputniks are used for the research of magnetic fields and cosmic rays.
2. The properties of materials are affected by solar radiation.
3. Numerous questions were being discussed by the commission.
4. The experiment has been carried out successfully, and the results will soon be
published.

[I. MepenuwunTte cnegyrowme npeanoXeHns u nepeseanTe NX Ha PyCCKUn A3bIK,
obpallasa BHMMaHMe Ha pasHble 3Ha4vyeHus cros it, that, one.

1. The peoples know that their joint efforts can secure peace in the whole world.
2. We had to find new methods of investigation because the old ones were
unsatisfactory.

3. One may work in this laboratory only observing certain rules.

[ll. MNepenuwunTe NpeanoXeHus 1 nepeBeauTe X Ha PYCCKMM A3blK, obpallas BHUMaHne
Ha pas3nuyHble 3Ha4YeHus rnaronos to be, to have, to do.

1. We had to change the design of this machine.

2. The speed of electrons is almost the same as that of light.

3. We have introduced a new system of work.

4. He does morning exercises every day.

IV. MNepenuwunTe cnegyowmne NpeanoXeHnsa 1 nepesegnTe X Ha pPyCcCKUm A3bik,
obpallasa BHMMaHue Ha 6eccoto3Hoe NogYMHEHME.

1. We know radio and radar systems play a very important role at any airport.

2. The substance they had to work with had an unpleasant odour.

V. MNepenuwuTe crnegyowmne NpeanoxeHus n nepesegnTe X Ha PyCCKUM A3bIK,
obpaluasa BHMMaHMe Ha PYHKUNIO MHPMHUTMBA.

1. The main purpose of the computers is to solve complex problems quickly.

2. To extend the main street they had to destroy some old buildings.

3. The new channel to be constructed here will be the longest in the country.

4. To operate the complex device was rather difficult.

VI. MpountanTte n nepeseaute ¢ 1 no 3-1 absaubl TekcTa. lNepennwnte N NIMCbMEHHO
nepeseaute 1 n 2-n absaubl.
[MosicCHEHUA K TEKCTY:
1. ultrasonics - ynbTpasByk
2. a transducer — gaT4mk
3. quartz — kBapy,
4. to come across — HaTONKHYTbCS, BCTPETUTL
5. proves to be — okasbiBaeTcs

Ultrasonics®
1. The source of the ultrasonic sound is called a transducer?®. One of the transducers is
a quartz® crystal. This is a solid body whose property is to change its dimensions under
the influence of electricity. A quartz crystal is pressed against the surface of the metal to
be tested. An electric current of ultrasonic frequency is applied to the crystal to make it
vibrate with the same frequency. From the crystal a short burst of sound travels into the



specimen. If it comes across* an air bubble, a crack or some other defects it is reflected
from that region, thus locating the defect. If the specimen has no defects the signal is
not reflected back until it reaches the opposite surface of the specimen.

2. Ultrasonic method is applied to study the ocean bottom, to locate shoals of fish or to
detect some danger of navigation. However the early wish to detect icebergs by
ultrasonic equipment failed to be realized. The reason for the failure is to be explained
by the following acoustic fundamentals — water and ice have nearly the same density
and sound travels at nearly the same speed through both. Thus a sound wave passes
freely from one medium into the other with only a small amount of reflection.

3. Ultrasonic waves are used in various industries. Ultrasonic cleaning proves to be®
especially successful in treating metal parts of irregular shape. The cracks which are
inaccessible to cleaning by all the usual methods come out clean when treated by
ultrasonics. To clean by ultrasonics seems to be very simple. But a physicist knows that
in attempting to explain this simple process of ultrasonic cleaning he has to go into the
fundamentals of acoustics and thermodynamics.

VII. Mpoyntante 3 ab3al TeKCTa U OTBETbTE HA BOMNPOCHI MUCbMEHHO.
1. Where are ultrasonic waves used?

2. What metal parts are successfully cleaned by ultrasonics?

3. How can cracks in metals be cleaned?

4. Does cleaning by ultrasonic seem to be very simple or very complex?
5. What does a physicist know?

KoHTponbHoe 3agaHune Ned

UTo6bl NpaBunbHO BbIMOMHUTL 3adaHue 4, Heob6XoaAMMOo YyCBOUTL criegyrouine
pasgenbl Kypca aHrIMNCKOro A3blka N0 peKkoMeHAOBaHHOMY y4EeOHUKY:
1. CnoxHble popmbl MHGUHUTMBA (Passive Infinitive, Perfect Infinitive). O6opoTsl,
paBHO3HAYHbIE NPUOATOYHBIM NPEANOXEHNAM: OOBEKTHBIN NHPUHUTUBHBIV 060pPOT,
CYOBEKTHBIN UHAPUHUTUBHBIN 0OOPOT.
2. Npuyactus (Participle 1, 11). He3aBucrMmbin (CaMmOCTOATENbHbIN) NPUYaACTHbIN 06OPOT.
3. YcnoBHble NpegnoxeHust.
Ncnonb3ynTte obpasubl BbIMOMHEHUS YIPaXKHEHUNA.

O6pasey BbinonHeHua 1 (k ynp.1)

1. A laser beam is known to be widely W3BecTHO, 4TO nasepHbIN Ny4

used in medicine. LLUMPOKO UCNOMb3YyeTCs B MeAULMHE.
2. Specialists believe synthetic fibores  CneunanucTbl nonaratoT, 4TO

to be widely used in different CUHTETUYECKME BOSIOKHA ByayT
industries. LLIMPOKO MCMOJSIb30BaTbLCH B

pasnnyHbIX OTpacnax
NPOMbILLIEHHOCTM.

3. The device to be bought must be Mpnbop, KOTOPLIN HYXKHO KyNUTb,

checked beforehand. cneayet npeaBapuUTensHO NPOBEPUTL

O6pasey BbinonHeHus 2 (K ynp.2)

1. Countries wishing to cooperate CTpaHbl, xxenarLne coTpygHmyaTb
with us will always find the C Hamu, BCcerga HamayT OOSMKHoe
necessary understanding. NOHUMaHe.

2. New technological processes Korga 6binun paspaboTaHbl HOBbIE

having been developed, new types TEXHOJSI0rMyeckme npoLeccol, B Lex



of equipment have been installed in  6bIno ycTaHOBNEHO HOBOE

the shop. TexHonornyeckoe obopyaoBaHue.
3. Having read the book | returned it  lNpo4nTas kHUrYy, 9 BO3BpaTUs ee B
to the library. ombnuoTeky.

O6pasey BbinonHeHusa 3 (kK ynp.3)

1. If the installation is put into Ecnu yctaHoBka byaeT nyLleHa
operation in time, the economic effect BoBpemsl, SKOHOMUYECKUIN AP PEKT
will be greater. BO3pacTer.
2. If the system had been perfected Ecnu 66l cuctema 6bina
we should have applied it for new yCOBEPLUEHCTBOBAHA, Mbl Obl
calculations. NPUMEHNNN ee AN HOBbIX PacYeTOB.
3. It would be impossible to build Bbino 6bl HEBO3MOXHO MNOCTPOUTL
spaceships without using new KocMuyeckne kopabnu 6e3
materials and alloys. NPUMEHEHNSA HOBbIX MaTepuarnos U
CNnaBoB.
BapwuaHrT 1.

[. MepenuwmnTe 1 NUCbMEHHO NepeBeanNTe Ha PYCCKUI A3bIK CreayloLmne npeanoxXeHus.
[MoMHUTE, YTO OOBEKTHBIN U CYOBEKTHBIN UHAPUHUTMBHBLIE 0B60POTHI COOTBETCTBYIOT
npuaaToYHbIM NPeasioXXeHnam (cMm. obpaseL, BbIMOfHEHUS 1).

1. Light and radio waves are said to be of similar nature.

2. We know this young man to work in the field of quantum generators.

3. The metal to be poured into a mold for casting may contract or expand on solidifying.

[I. MepenuwmnTe n NTMCbMEHHO NepeBeanTe Ha PYCCKUIA A3blK crieayowmne
npeanoxeHus. O6patTuTe BHMMaHWE Ha NepeBo 3aBMCUMOro U HE3aBMCUMOTO
(camocToATENBHOrO) NPUYACTHLIX 060POTOB (CM. O6pa3seL, BbINOSTHEHUS 2).

1. Having done a number of calculations our astronomers have shown that the basic
mass of the galaxies is concentrated outside their visible part.

2. The weather permitting, we shall go to the country.

3. The narrow intense beam being produced by the laser travels great distance without
spreading.

[ll. Mepenuwmnte n NUCbMEHHO NepeBeauTe Ha PYCCKU A3bIK Criedytowme CrioXHble
npegnoxeHus. ObpaTute BHUMaHWE Ha NepeBor YCOBHbIX NpeanoXeHun (CM.
obpasel, BbINOMHEHUS 3).

1. If biological experiments are continued, the problem of developing the technology for
growing plants in space conditions will be solved.

2. The design would have been ready by the end of the year if they had supplied us with
all the necessary equipment.

3. It would be impossible to protect metal from corrosion without the films.

IV. MNpountante n ycTHo nepeseauTte ¢ 1-oro no 5-n abaaubl Tekcta. lNepenuwmnte n
nMcbMeHHO nepeseauTe 1, 2, 3, 4-11 ab3aubl TEKCTa.
[MoACHEHUA K TEKCTY.
1. many times- BO MHOro pa3
2. to combat against- 6bopoTbca NpoTmB
3. Russian-made inhibitors- nHrMGuTopbI, N3roToBneHHbIE B Poccumn



Corrosion
1. During a year almost 200 million tons of metal objects are considered to be
destroyed by corrosion. Considering that about 600 million tons of metal a year are
produced in the world, it is easy to understand the losses of objects without which our
life could not be imagined.
2. The situation is very serious, because not only metal is destroyed but also a great
amount of articles, instruments and tools whose cost exceeds many times the cost of
the metal used for their manufacture.
3. Combating against the corrosion of metals has now become a key problem in all
industrialized countries.

The scientific and technical achievements in the field of raising the corrosion
resistance of construction materials are the basis of technical progress in different
branches of industry, an indicator of the country’s economic potential.

4. A large amount of “anti-corrosion” work is being carried out in Russia. The results
are evident: Russian-made inhibitors, varnishes, paint covers are being well known
throughout the world. Gas pipelines, metal structures, the bodies of atomic reactors and
ships, etc. have been reliably protected against corrosion.

5. Russia also exports special equipment and some kind of technology designed to
weaken corrosion. Anti-corrosion varnishes, paints, insulating materials and equipment
are sold abroad.

V. MpounTtante 5-n ab3aw, Tekcta N OTBETbTE MMCbMEHHO Ha CrieayrLLmii BONpoc:
What materials weakening corrosion does Russia sell?

BapwuaHrT 2.
l. MepenuwmnTe 1 NMCbMEHHO NepeBeanTe Ha PYCCKUIN A3bIK Criegyrowmne npeasioxXeHus.
MoMHUTE, YTO OOBEKTHBLIN U CYOBEKTHBIN UHAPUHUTUBHBLIE OOOPOTHI COOTBETCTBYIOT
NpuaaToOYHbLIM NPeasioXXeHnam (cm. obpaseL, BbIMOAHEHUs 1).
1. Samples of semiconductors with improved properties are reported to be obtained on
a new installation.
2. Scientists found beta-rays to consist of negative particles.
3. A problem to be solved by digital computer must be expressed in mathematical
terms.

[I. MepenuwmnTe N NTMCbMEHHO NepeBEeaAMTE Ha PYCCKUIA A3bIK crieayoumne
npeanoxeHus. Obpatute BHMMaHWe Ha nepeso 3aBUCMMOro U HE3aBUCUMOTO
(camocToATENBHOrO) NPUYacTHLIX 060POTOB (CM. O6pa3seL, BbINOSTHEHMUS 2).

1. Having used a laser beam scientist obtained accurate calculations of Jupiter’s
temperature.

2. The beam travelled 800,000 km in space, its velocity approaching that of light.

3. Being used in measuring the diffusion of metals isotopes gave much more accurate
data.

[ll. Mepenuwmnte n NUCbMEHHO NepeBeauTe Ha PYCCKU A3bIK CriedyroLwme CrioXHble
npeanoxeHus. O6paTuTe BHUMaHNE Ha NepeBo YCNOBHbIX NPeaAnoXeHnn (Cm.
obpasel, BbINOMHEHUS 3).

1. If the metal had been heated slowly, the first changes in its appearance would have
occurred at a temperature of 1,0000] K.

2. If liquids expand upon freezing, an increase of pressure lowers its freezing point.

3. It would be impossible to determine the properties of these materials without
intensive studies in our research laboratory.



IV. Mpountante n yctHo nepeeaute ¢ 1-oro no 5-1 absaubl Tekcta. MNepenuwmnte n
nMcbMeHHo nepeseaute 1, 2, 3, 4-11 ab3aubl TeKCTa.
[MosiCHEHUSA K TEKCTY.
1. the laser- nasep
2. partial mirror- nonynpo3payHoe CTeKro
3. power supply- UICTOYHMK NUTAHNS

The laser today and tomorrow
1. The laser has become a multipurpose tool. It has caused a real revolution in
technology.

Atoms emit rays of different length, which prevents the forming of an intense beam
of light. The laser forces its atoms to emit rays having the same length and travelling in
the same direction. The result is a narrow, extremely intense beam of light that spreads
out very little and is therefore able to travel very great distances.

2. The most common laser is the helium-neon laser in the laser tube, containing 10 per
cent helium gas and 90 per cent neon gas. At the end of the tube there is a mirror, and
at the other end there is a partial mirror. The electrons get energy from a power supply
and become “excited”, giving off energy as light. This light is reflected by the mirror at
one end of the tube. It can only escape through the partial mirror at the other end of the
tube.

3. The first laser was built in 1960. Since then scientists have developed several types
of the laser which make use of luminescent crystals, luminescent glass, a mixture of
various gases and finally semiconductors.

4. Having been developed at The Institute of Physics in 1962, semiconductor quantum
generators occupy a special place among the optical generators. While the size of the
ruby crystal laser comes to tens of centimeters and that of the gas generator is about a
meter long, the semiconductor laser is a few tens of a millimeter long, the density of its
radiation being hundreds of thousands of times greater than that of the best ruby laser.
5. But the most interesting thing about semiconductor laser is that it is able to
transform electrical energy directly into light wave energy. The semiconductor laser
opens up new possibilities of producing extremely economical sources of light.

V. MpounTtante 5-n ab3ay, Tekcta M 0TBETbTE MUCbMEHHO Ha CrieayrL M BOnpoc:
What possibilities does the semiconductor laser open?

BapwuaHT 3.
[. MepenuwmnTe N NUCbMEHHO NepeBeAUTE Ha PYCCKUI SA3bIK CneayoLmne NpeanoxXeHus.
lMoMHUTE, 4TO OBBEKTHBIN N CYOBLEKTHBIN MHPUHUTUBHBIE 0BOPOTHLI COOTBETCTBYIOT
npuaaToYHbLIM NpeasioXXeHnam (cMm. obpasel, BbIMOAHEHUS 1).
1. The Sun and stars are proved to be able to produce great quantities of energy by
means of certain nuclear reactions.
2. For the experiment we need several electrical devices to be connected in series.
3. Lasers are known to have found wide application in medicine.

[I. MepenuwmnTe N NMCbMEHHO NepeBeanTe Ha PYCCKUIN A3bIK criegyroLimne
npeanoxeHus. O6patute BHMMaHWE Ha NepeBo 3aBUCUMOrO U HE3aBMCUMOTO
(camocToATENBHOrO) NPUYacTHbLIX 060POTOB (CM. 06pa3seL, BbINOSTHEHMUS 2).

1. Measurements of solar radiation reaching the Earth each day make it possible to
calculate the surface temperature of the Sun.

2. Having built a new automobile plant, we increased the output of cars and buses.
3. Knowledge being the most valuable wealth of our times, the information theory
became of great importance for the national economy.



. TlepennwnTe U NIMCbMEHHO NepeBeanTe Ha PYCCKUM A3bIK CneayloLlme CRnoXxHble
npeanoxeHus. O6paTuTe BHUMaHNE Ha NepeBo YCNOBHbIX MPEeAnoXeHNR (CM.
obpasel, BbINonHeHus 3).

1. If the gathered data had been presented in time, the results of the experiments would
have been different.

2. If you had answered six questions in the competition, you would have won the first
prize.

3. It would be impossible to carry on a careful study of the process without the new
device.

IV. MNpountante n ycTHo nepeseauTte ¢ 1-oro no 5-n absaubl Tekcta. lNepenuwmnte n
nncbMeHHo nepeseaute 1, 2, 3, 4-1 ab3aubl TeKCTa.
[MOSICHEHUS K TEKCTY.
1. digital - undpoBon
2. to result in — 3akaH4MBaTbLCS, NPUBOANTL K YeMY-NNBOo
3. prospects — nepcnekTmBsbl

Computers
1. The first machine for mathematical computation was built in 1822 by the
mathematician Charles Babbage. From the description of this machine we know him to
understand clearly all the fundamental principles of modern digital computers. Babbage
was born in England in 1792. He taught himself mathematics so well that when he went
to Cambridge he found that he knew algebra better than his teacher. Babbage
constructed a model of a computer and devoted the rest of his life to developing an
universal computing machine. But he was not understood by his contemporaries.
2. Two generations of engineers worked hard to construct a modern computer. Their
attempts resulted in the development of computing machines which transformed the
whole course of scientific achievements. If you looked at the machines which people
had used up to 1946, you would notice that they were not so perfect as the ones
available today.
3. Having invented computers engineers began to use them in industrial automatic
processes. They are known to carry out several thousand arithmetic operation in one
second. If there had been no computers space flights and many other achievements of
modern science and technology would have been impossible.
4. We often hear that the increasing flood of information will be one of the problems of
the 21-st century. The computers may help to solve it too.
5. As the electronic computer has opened great prospects for further development of
science and technology, it may be spoken of as one of the most important inventions of
our time.

V. MNMpouunTtante 5-n ab3ay, Tekcta N 0TBETbTE MUCbMEHHO Ha CrieayroLL M BONpoc:
Why may a computer be spoken of as one of the most important inventions of our time?

BapwuaHT 4
[. MNepenuwmnTe N NUCbMEHHO NepeBeamnTe Ha PYCCKUI A3bIK Criefyowmne npeanoxXeHuns.
[MoMHuTE, 4TO 06 BLEKTHLIN N CYyOBEKTHBIN UHPUHUTUBHBIE 0BOPOTHI COOTBETCTBYIOT
npuaaToYHbIM NpeasioXXeHnam (cm. obpasel, BbIMOAHEHUS 1).

1. We know the wave theory of light to be first proposed by the English physicist Robert
Hooke in 1665.



2. The crew is reported to have carried out a great deal of scientific experiments.
3. A problem to be solved by a digital computer must be expressed in mathematical
terms.

[I. MepenuwunTe M NMCbMEHHO NepPeEBEANTE Ha PYCCKUI A3bIK creaytoLine
npeanoxeHus. ObpatTuTe BHMMaHWe Ha Nepeso 3aBUCUMOro U HE3aBUCUMOTO
(camocToaTenbHOro) NpuyacTHbix 060poToB (CM. 06pasel, BbINOSHEHUS 2).

1. About 100 years ago, a French scientist Pierre Curie subjecting certain crystalline
materials to pressure, observed that they produced an electric charge.

2. Having been subjected to high pressure metals become highly conductive.

3. The average height of the Ural mountains is 800 meters, the highest point being
1.500meters above sea level.

. TlepenuwmnTe N NMCbMEHHO NepeBeanTe Ha PYCCKUN A3bIK cneayroLme
npeanoxeHus. O6paTuTe BHUMaHNE Ha TO, Kak NePeBOaATCA YCNOBHbIE NPEeaIOXEHMUS
(cm. obpasel, BbINonHEHMS 3).

1. If the service life of the instrument had been prolonged, the economic effect would
have been increased many times.

2. Were the temperature increased, the velocity of the molecular motion would also be
increased.

3. It would be impossible to ensure the full supply of energy without atomic power
stations.

IV. MNpountante n ycTHo nepeseanTte ¢1-ro no 5-n ablaubl Tekcra. lNepenuwnte n
nncbMeHHo nepeseaunte 1, 2, 3 1 4-n absaupl.
[MoAcHeHUs K TeKCTy
1. tiny fraction of time — o4eHb KOPOTKUIN NEPUOS BPEMEHU
2. data processing system — cuctema o6paboTkum nHdopmaumm
3. digital — umdposomn.

Today’s astonishing computers.
1. Not long ago computers were not very reliable and comparatively slow in operation.
Since then, several generations of complex electronic computing equipment have been
developed, each being significantly better than the one before it. AImost every day a
new use is found for these astonishing devices to help men.
2. We know a computer to be a complex electronic device that can store and process
vast quantities of information. Following instructions, computing equipment will perform
calculations such as addition, subtraction, multiplication and division and provide the
answers to a large variety of problems in a tiny fraction of time*. A computer is known to
be the “heart” of an electronic data processing system?, other parts of equipment being
auxiliary.
3. There are two types of computing equipment — digital® and analogue. They work
differently and yield different results. The digital computer is performing a much broader
range of functions than the analogue.
4. The analogue computer produces analogues or parallels of the process to be
described or the problem to be solved. Both digital and analogue computers must be
programmed. This means they must be set up in such a way that they can produce a
result from the information fed into them and the information itself must be organized so
that it can be handled by the machines. These devices working by electronic impulses
perform at fantastic speed and with great precision.
5. Nowadays computer makers are working at the problem of introducing small
computers into our life.



V. MpounTtante 5-n ab3ay, Tekcta M OTBETbTE MMCbMEHHO Ha CreayrLL M BONpoc:
What problem are computer makers working at nowadays?

BapwuaHrT 5.
[. MepenuwmnTe 1 NUCbMEHHO NepeBEeANTE Ha PYCCKUIA A3bIK CreayloLmne npeanoxeHus.
MoMHUTE, 4TO OBBEKTHBIN N CYOBEKTHBI MHPUHUTUBHBIE 0BOPOTHI COOTBETCTBYIOT
npuaaToYHbIM NpeasioXXeHnam (cMm. obpasel, BbIMOAHEHUS 1).
1. We know neutrino to have a rest mass (Macca nokosi) of about 30 electron-volts.
2. Conduction is known to be a process by which heat is transmitted through a
substance by molecular activity.
3. All the changes of temperature and changes of state to be discussed are shown by a
graph in figure (pucyHok) 2.

[I. MepenuwmnTe N NMCbMEHHO NEepPeBEANTE Ha PYCCKUIN A3bIK crieaytoLimne
npeanoxeHus. ObpatTuTe BHMMaHWe Ha NepeBo 3aBUCUMOro U HE3aBUCUMOTO
(camocToATENBHOrO) NPUYacTHLIX 060POTOB (CM. ObpaseL, BbINOSTHEHUS 2).

1. Working with machines, sharp tools, motors one must be careful.

2. The stream of electrons moving along the conductor is called electric current.

3. Powerful nuclear ice-breakers being built in our country, we began a new chapter in
the history of Arctic exploration.

[ll. MepenuwmnTe N NMCbMEHHO NEepPeBEANTE Ha PYCCKUI A3bIK criegyroLimne
npegnoxenus. ObpatuTe BHUMaHNE Ha TO, KaK MEPEBOAATCS YCINOBHbIE NPEANOXEHMS
(cm. obpasel, BbINOSIHEHUS 3).

1. If you had translated the article, you could have used valuable data in your work.

2. If the quality of the equipment were higher, the results of the experiment would be
more accurate.

3. It would be impossible to explain chemical phenomena without using the laws of
physics.

IV. MNpountante n ycTHo nepeseaunTte ¢1-ro no 5-n abaaubl Tekcra. lNepenuwmnte n
nnucbMeHHo nepeseante 1, 2, 3 1 4-n absaupl.
[MoAcHeHus K TeKCTy
1. to account for - 06BACHATL
2. to put an end — NOMOXUTb KOHEL|
3. as early as — ewé.

The moon
1. The moon is the only astronomical body whose distance from the Earth can be
measured in thousands of kilometers. Long before the dawn of written history the Moon
was paid much attention to by man who was interested and attracted by the presence in
the sky of a planet that was so clearly seen from the Earth.
2. Inthe middle ages the moon was supposed to have a smooth crystalline surface like
a mirror and that the dark spots on the Moon were accounted for® by the fact that the
Earth was reflected on its surface. However, with the help of the first little telescope that
was turned by Galileo upon the Moon this conception was put an end? to as early as®
1609. Galileo thought that he saw mountains and valleys, seas and continents on the
Moon.
3. The view of the Moon has been obtained with the help of a series of automatic lunar
stations named “Luna”.



4. Having been transmitted by these stations, the photos and panoramas have shown
that the surface of the Moon is uneven and rugged, with many hills and cavities like
volcanic craters, a few of them measuring some kilometers in diameter. A great number
of stones lying on the Moon’s surface proved the lunar ground to be firm enough and it
would not sink if it were stepped on, walked across or put some heavy weight upon.
Man’s knowledge of the Moon is rapidly progressing, new data being constantly
reported.

5. The mutual attraction of the Moon and the Earth for one another is accounted for by
the force of gravitation. American astronauts landed on the Moon and brought
specimens of Moon rock and a series of photographs for further study.

V. MpounTtante 5-n ab3aw, Tekcta N OTBETbTE MMCbMEHHO Ha CreayrLL M BONpoc:
What is the mutual attraction of the Moon and the Earth accounted for?

KoHTponbHoe 3apgaHue Ne 5.
YTto6bl NpaBMnbHO BLINOMHUTL 3adaHue 5, Heo6xo4MMo NOBTOPUTL creaytoLwme
pasgenbl Kypca aHrMNCKOro A3bika No peKOMeHAOBaHHOMY Y4EeOHMKY:
1. M'pammaTuyeckume dyHkumm rnaronos should, would.
2. O60pOTbI C UHPUHNTUBOM M NPUYACTUEM, PABHO3HAYHbIE NMPUAATOYHbLIM
npeanoXeHUsM.
3. PasnunyHble 3Ha4yeHns crnoB: as, because, because of, due to, for, since, both ... and,
either ... or,
neither ... nor.

O6pa3seu BbinonHeHus (k ynp. ).

As
1. As there were many new words in the Tak kak B TekcTe OblsI0 MHOro HOBbIX Cr1OB,
text | used a dictionary. S1 NONb30Barcs CrIoBapéM.
2. Electricity is a source of light as wellas  3nekTpu4ecTBO — 3TO UICTOYHUK CBETa, a
of heat. Takke Tenna.
3. As to (as for) the computer it can handle Y710 kacaeTcs KOMNbOTEPA, TO OH MOXET B
enormous quantity of data per second. cekyHay obpaboTaTtb OrpOMHOE YNCHO

AaHHbIX.
4. | have done the work as it was required. A coenan paborty, kak 3To TpeboBanocs.

Because, because of

1. We use these films because they Mbl ncnonb3yem 3TN NSEHKN, TAK KaK OHU
poSsess superior properties. obnagalT NPeBOCXOAHBIMU CBONCTBaAMMU
2.The engineers prefer electronic devices  WHxeHepbl NpeanoymMTaoT 3NeKTPOHHbIE
because of their reliability. npnbopbl BCNeACTBUE UX HAOEXKHOCTM.
Due to
1. Plastics are in wide use due to their MnacTukn Haxo4aT WMPOKOE NpUMEHEHNe
light weight. Gnarogapsi Ux Nnérkomy Becy.
For
1. For a long time wood was being applied B TeyeHne gonroro BpemeHu 4epeBo
for housing construction. MCNonb30Banochb Ans CTPoUTeNbCTBa
OOMOB.
2. We could not translate this text for it Mbl HE CMOrnIM NepeBECTUN ITOT, TaK Kak

contained unknown terms. OH coaepkar HEN3BeCTHbIE TEPMUHBI.



Since
1. Man used wood for construction since
ancient times.
2. Since the experiment was finished the
students left the lab.

Both ... and
1. Electronics helps us to study both the
atomic nucleus and elementary particles.

Either ... or
1. Motors run on either direct or alternating
current.

Neither ... nor
1. There is neither oil nor coal in this
region.

C OpeBHMX BPEMEH YeroBekK NCMonb30Bar
APEBECUHY ANs CTPOUTENbCTBA.
Tak Kak 3KCnepuMeHT Obl 3aKOHYEH,
CTYAEHTbI YLLK 13 nabopaTopun.

OnNeKTPOHMKa NoMoraeT HaMm N3y4YnTb Kak
aTOMHOE A4p0, TaK U arieMeHTapHble
YyacTuLbl.

MOTOpr pa60Ta+0T ninM Ha NoCToAHHOM
niun
nepeMeHHOM TOKe.

B aTOM painoHe HET HU HeddTH, HU YIIS.

BapwuaHrT 1.
I. MepenuwmnTe NpeanoXeHns n nepeBeamTe UX Ha PYCCKUI s3blK, obpallas BHUMaHue
Ha pasnuyHble 3Ha4YeHus rnaronos should n would.
1. The engineer should know both the advantages and the disadvantages of the

materials used.

2. Without mathematics there would be no science, no electronic computers, no

conquest of space.

3. If we placed this material in vacuum, its mechanical properties would be changed.

[l. MepenvwmnTe NpeanoXxeHns n nepeBeanTe Nx Ha Pycckui s3blkK, NPUHUMas BO
BHUMaHMWE, YTO MHPMHUTMBHBIE U NPUYACTHbIE 0GOPOTHI COOTBETCTBYIOT NPUAATOYHBIM

npeanoXeHndam.

1. The method used depends on the length to be measured.

2. Silicon is known to be the basic material for electric industry.

3. Any element is characterized by a certain number of protons in the nucleus, this
number being the same as the number of electrons in the atom.

4. Unless treated this material must not be used in space technology.

5. We believe Pythagoras to have been the founder of a school to train students in

mathematical thinking.

[ll. MepenuwmnTe NpeanoXeHns n nepeBeanTe NX Ha PYCCKUM A3blK, obpallas BHUMaHWe
Ha pasnuyHble 3Ha4YeHUs BblgereHHbIX CrOB.

1. Radar is used in airplane and ship navigation as well as in other fields of science and
engineering.

2. The transformer is a device used for raising or lowering voltage.

3. The new plastics will be used as insulators both in electrical and electronic circuits.

IV. MpounTante n ycTHO NnepeBeanTe Ha PYyCCKUin A3blk ¢ 1-ro no 5-n ab3aubl TEKCTa.
Mepenuwunte n NnucbMeHHO nepeseauTe 2,4 n 5 absaupl.
[MosicHeHus K TeKCTy:
1. vacuum tube — anekTpoHHasa namna
2. operating current — pabo4nii Tok



3. transistorized circuitry — uenb, cobpaHHasa Ha TpaH3ucTopax
4. tunnel diode — TyHHenNbHbIM Anog
5. ring radio set — pagnonpUEMHNK, BCTPOEHHbLIN B KONbLO.

Electronics.
1. To separate electronics from the concepts of electricity is extremely difficult. The
field of electricity is generally concerned with magnetism, light, heating and the
production of electricity by generators and chemical action.
2. Electronics usually deals with the application of electricity in communications, in
radio, television and other devices where vacuum tubes’ and transistors are employed.
We know the vacuum tube and the transistor to be major components of various
electronic devices.
3. The many disadvantages of vacuum tubes include high cost, bulky construction,
high amount of operating current?, limited life and high operating temperature. However
the vacuum tube is ideal in many situations where electrical energy is readily available
and where heat is no problem.
4. A more recent invention — the transistor is known to have replaced the vacuum tube
in many situations. The transistor operates on a minimum amount of electrical energy,
emits very little heat and has a long life. The transistor is tiny compared to the size of
the vacuum tube of equivalent energy output. This feature has permitted an electronic
circuit to be so small that the electronic technician uses magnifying lenses to aid him in
his circuit construction and repair.
5. Later research has revealed a device which has revolutionized the field of transistor,
Lew Esaki, discovered a simple semiconductor class of crystal that is even more
amazing than the transistor. The tunnel diode®, as it is called, operates on a negligible
amount of electric current, its diameter being some few thousandths of an inch. With
such a transistor man will be able to see telephones to be worn on wrists, pocket-size
TV sets and ring radio sets®.
6. Several recent developments in the field of electronics have led to better ways to
communicate efficiently over long distances. The maser and the laser permit man to
beam extremely coherent and concentrated energy with almost no loss of intensity.
Lasers and masers are known to have been used for transmitting power, radio waves
and other waves used in communication.

V. MNMpouunTtainte 6-om ab3aL, TekCTa N NMCbMEHHO OTBETbTE Ha CreayloLuni BONpoc:
Where will lasers and masers be used?

BapwuaHT 2.
|. NepenuwnTe NpeanoXeHns n NnepeBeanTe NxX Ha Pycckui aA3blk, obpallas BHUMaHue
Ha pasnuyHble 3Ha4YeHus rnaronos should n would.
1. Mention should be made that during the war the radar was being used for detecting
airplanes.
2. Any explanation of how the sun generates heat by fission would have been
impossible 60 years ago.
3. If we had used solar energy on a wide scale we should have found a solution to our
energy problems.

[I. MepenuwunTe NpegnoXeHnst U NepeBeanTe NX Ha PYCCKUIM A3bIK, MPUHUMas BO
BHUMaHWe, YTO MHPUHUTMBHBIE U NpUYACTHbIE 060POTLI COOTBETCTBYIOT NPUAATOYHBIM
NpeasIoKEHNAM.

1. The atoms are usually combined chemically into groups called molecules, these
molecules being in constant motion.



2. In order to calculate the volume of any object you must measure its height, width and
depth.

3. The rays passing through the object being examined produce an image on X-ray film.
4. The engineers are interested in plastics because they offer a rare combination of
properties found in no other materials.

5. Electrical forces seem to play a very important part in holding crystals together.

[ll. MepenuwmnTe NpeanoXeHns n nepeBeanTe NX Ha PYCCKUM A3blK, obpallas BHAMaHWe
Ha pasnuyHble 3HaYeHUS Bbl4eNeHHbIX CIOB.

1. As to this device it is capable to convert sunlight to another form of energy.

2. Neither plastics nor metals have all the desirable properties that the engineer looks
for.

3. The structure of the atom is similar to a planetary system since electrons orbit around
a central nucleus.

IV. MNpountante n yCTHO nepeBeamTe Ha PYCCKNIN A3bIK C 1-ro no 5-n abaaubl TekcTa.
Mepenuwunte n NnucbMeHHO nepeseauTte 2,3 1 4-in ab3aubl.
[MoSACHEHUS K TEKCTY:
1. Crookes tube — Tpybka Kpykca
2. an X-ray film — peHTreHoBCKasa nNnéHka
3. forgery - nopgenka
4. strain — GMONOrNYEeCKUN LWTaMM

X-Rays.
1. The modern atomic age which we live in began because of an accidental discovery.
In 1895 a German scientists named Wilhelm Roentgen discovered the existence of X-
rays. Many scientists had studied these rays but no one had discovered that when
these cathode rays struck the glass wall of Crookes tube®! X-rays were created.
2. Roentgen also revealed that these X-rays could pass through solid matter and
expose an X-ray film% This discovery led immediately to the use of X-rays in medicine,
the use we are all familiar with.
3. Although Roentgen discovered the properties of X-rays he did not know what rays
were. He therefore called them X-rays, the X standing for their unknown nature. Today
scientists know X-rays to be electromagnetic radiation of extremely high frequency and
therefore of extremely short-wave length. X-rays are considered to be produced
whenever rapidly moving electrons bombard any solid material. The greater the atomic
weight of the material, the more plentiful the X-rays, the greater the speed of the
electrons the higher the frequency of the X-rays.
4. As mentioned above X-rays were in a wide use for diagnostic purposes in medicine
since their discovery. Industrial radiology has been discovered later particularly for
inspecting welds and castings in the automobile and airplane industries. Flaws and
cracks inside the metal are readily revealed due to the use of X-ray techniques. Famous
paintings are often X-rayed to determine whether they are the originals or forgeries®.
5. Using X-rays irradiation the scientists have learnt to change structures of well-
known materials such as metals, ceramics, etc. They could obtain materials of greater
strength with higher melting point and particular electrical properties.
6. Radiation is known to be a multagenic agent. In microbiology mutations are
increased by irradiation. When a large-scale production of penicillin was introduced the
best strain* yielded 100-200 units of penicillin. Being irradiated with X-rays, the same
strain produced more than 1,000 units. Many new uses have been found for this
treatment in agriculture.



V. lMpounTtanTte 6-on ab3ay TeKCTa N MMCbMEHHO OTBETbLTE Ha CrneayrLnin BONPOC:
What increase was obtained in the productivity of penicillin being irradiated with X-rays?

BapwuaHT 3.
|. MNepenuwmnTe NpeanoXeHus 1 nepeBeanTe UX Ha PYCCKU A3blk, obpalas BHUMaHue
Ha pasnunyHble 3HayYeHus rnaronos should n would.
1. Without progress in the field of electronics it would be impossible to develop either
energetics or automation.
2. If we used new plastics materials we should reduce the weight of artificial satellites.
3. You should test the new equipment.

[I. MepenuwmnTe NpeanoXeHnsa N nepeBeamTe X Ha PYCCKUM A3bIK, MPUHUMAs BO
BHMMaHWE, YTO UHPUHUTMBHbBIE N NPpUYACTHblE 060POTHI COOTBETCTBYHOT NPUAATOYHbLIM
NPeanOXEHUAM.

1. Some materials undergo chemical changes when subjected to heat and pressure.

2. There are still many problems to be solved concerning radio, radar and television.

3. Matter is known to exist in four states- solid, liquid, gaseous and plasma, the latter
being a hot ionized gas.

4. The energy being released during the fission of one gramme of uranium is equal to
the energy produced by two and a half tons of coal.

5. To make mathematics into a science has been the priviledge of the Greeks.

[ll. MNepenuwunTe NpeanoXeHUsa 1 nepeBeaunTe NX Ha PYCCKUM A3blK, obpallas BHUMaHne
Ha pasnu4yHble 3Ha4YEeHUS BblAENEHHbIX COB.

1. The speed of electrons is almost the same as the speed of light.

2. This metal possesses high strength due to the addition of tungsten.

3. Copper is in a wide use for cables because it is a good conductor of electricity.

IV. MNpoyntante n yCTHO nepeBeamTe Ha PyCCKUIN A3bIK C 1-ro no 6-n absaubl TekcTa.
Mepenuwmnte n NnucbMeHHo nepeseaute 2,4 1 5-11 ab3aubl.
[MosICHEHUS K TEKCTY:
1. to result from- nponcxoantb
2. internal combustion engine- gBuratenb BHyTPEHHEro CropaHns
3. wasted heat- otpaboTaHHoe Tenno
4. scarcity- HexBaTka
5. thermo-nuclear fusion- TepmosaepHasa peakuus

Energy and the environment
1. Many of the most serious environment problems of the technological nations result
from the use of energy. Every form of energy production is known to cause some
damage to the surroundings. A large part of urban air pollution is probably caused by
emission from internal combustion engines. Other forms of urban air pollution result
from the combustion of coal and low grade oil in steam electric plants or central heating
plants.
2. Hydroelectric plants are considered to cause serious problems in the environment
as well. One major problem of hydroelectric plants is the enormous weight of the water
that fills the lake behind the dam rather quickly after the dam is constructed. The added
weight places severe stresses on the geological formation, causing earthquakes in the
area. The most severe earthquake- 6,5 on the Richter scale- happened as the lake
behind the dam in Konga (India) was filled.



3. Perhaps, the most tragic problem created by the Aswan High Dam on the Nile River
is the increase of diseases. The still waters behind the dam prove to create a good
ground for insects carrying diseases.

4. Another form of environment degradation common to electric power generation is
thermal pollution- the dumping of wasted heat into streams of water or the atmosphere.
The warmed water is rather quickly mixed with the streams of water in a lake, this
having harmful effect upon ecological balance of the lake.

5. In order to obtain enormous amounts of energy we are building powerful atomic
electric stations which open up fine prospects in atomic power industry. However
nuclear plants are capable of polluting the environment with radioactive atoms of
various elements moreover, nuclear reactors of the types now being built will not be
widely used as a source of energy became of the scarcity of the isotope “U” which is
used as fuel.

6. The largest potential source of nuclear energy is thermo-nuclear fusion by which the
nuclei of small atoms are combined to form large nuclei. However these power plants
also contaminate the environment with radioactive elements that are released when the
fuel is burnt.

V. MNMpounTtante 6-om ab3aL, TekcTa N NMCbMEHHO OTBETbTE Ha CrieaytoLunm BONpoc:
What substances do power plants contaminate the environment with?

BapwuaHrT 4.
l. MepenuwnTe NpeanoXeHns 1 nepesBeanTe NX Ha PyCCKui s3blK, obpallas BHUMaHue
Ha pasnuyHble 3Ha4YeHus rnaronos should n would.
1. It would have been impossible to send up sputniks unless the laws governing the
motion of planets had been studied.
2. In 1898 Marie and Pierre Curie discovered that radium sent out rays consisting of
particles smaller than the atom.
3. The computer will advise the drivers with which speed they should drive trains on
each sector of the route.

[I. MepenuwunTe NpeanoXeHUs U NepeBeanTe NX Ha PyCCKUI A3bIK, MPUHUMas BO
BHMMaHWE, YTO UHPUHUTMBHbBIE N NPUYACTHbIE 060POTHI COOTBETCTBYHOT NPUAATOYHLIM
NpeanoXeHUAM.

1. The main disadvantage of plastics is likely to be poor resistance to heat.

2. Scientists consider solar energy to be an ideal source of power for artificial satellites.
3. Liquid lubricants evaporating in vacuum, scientists developed solid lubricants for
space engineering.

4. Wood was perhaps the first material to be used by man for building purposes.

5. Having been translated into many languages Pushkin’s books became known all over
the world.

[ll. MepenuwnTe NpeanoXeHnust U NepeBeanTe NX Ha PyCcCkui A3blk, obpallas BHUMaHNe
Ha pasnuyHble 3HaYeHUS Bbl4eNeHHbIX CIOB.

1. For a long time scientists dreamed to obtain electric power directly from the sun.

2. This plant produces cars and refrigerators as well.

3. Since rubber is a non-conductor of electricity it is used for insulators.

IV. MNpoynTante n yCTHO nepeBeauTe Ha PyCCKUIN A3bIK C 1-ro no 4-in abaavbl TekcTa.
Mepenuwmnte n nucbMeHHO nepeseauTte 2,3,4-1 ab3aubl.

[MosACHEHUS K TEKCTY:
1. far side- obpaTHasa ctopoHa



2. rock- ropHasa nopoga

3. mantle- maHTUA

4. glassy globule- cteknoBnaHbIN Wapuk
5. melting point- Touka nnaBneHus

Lunar exploration.
1. The Earth’s nearest celestial neighbour- the Moon- is only 384,400 km away from
us. That is why, it appears sufficiently large and bright. Lunar exploration began in 1959
when Luna-3 spacecraft was sent around the Moon. It radioed back the first
photographs of the Moon'’s far side. In July 1969 two American astronauts landed on the
Moon and carried out a variety of experiments on the surface of the Moon.
2. The kilometers of film exposed by the astronauts, the specimens of rock brought
back to the Earth and other data studied by hundreds of scientists from countries all
over the Earth have led to new views on several basic problems.
3. Before the Moon landings it was thought that the Moon was a simple body with the
same composition throughout. But we now know it to be a body with a metallic core at
its centre, a silica- rich mantle and a crust Lunar soils proved to contain a type of
structure that is not common on Earth. Small glassy globules were present in the soil.
4. The types of rocks that were encountered on the Moon are familiar to geologists.
However, almost all of these rocks have lower proportions of elements with lower
melting points than does the Earth. Detailed examinations of the lunar rocks indicate to
relatively high proportions of elements with high melting points such as calcium,
aluminium and titanium. So the Moon and the Earth seem to be more familiar than had
been thought for the last few years. None of the lunar rocks contain any trace of water
found inside their minerals. This ends all hope that water and life existed on the Moon at
any time in the past.
5. Thus, due to the lunar explorations the scientist were provided with some
information about the composition of the solar system, with the information of the Moon
and its relationship to the Earth. One day we may be able to use the far side of the
Moon as a site for scientific observatories, for optical, ultraviolet or infrared
observations. Twenty or thirty years from now we may be able to visit the Moon as
researchers or even as tourists.

V. MNMpounTtante 6-om ab3aw, TeKkCTa U NMCbMEHHO OTBETbLTE Ha CreayloLunI BONpPOcC:
What purpose will the Moon’s surface be used in future for?

BapwuaHrT 5.
l. MepenuwunTte npegnoXeHns U nepesBeanTe NX Ha PycCKkUi s3biK, obpallas BHUMaHue
Ha pasnuyHble 3Ha4YeHus rnaronos should n would.
1. In the future new alloys and synthetic materials should replace the metals we use
today.
2. It would be impossible to simplify the production of aluminium without using the
electrothermal method.
3. The design would have been ready by the end of the year if they had supplied us with
all the necessary equipment.

[l. MepenuwmnTe NpeanoXeHns N nepeBeamTe X Ha PYCCKUM A3bIK, MPUHUMAs BO
BHMMaHWE, YTO UHPUHUTMBHbBIE N NpUYACTHblIE 060POTHI COOTBETCTBYHOT NPUAATOYHbLIM
NPeanOXeHUsAM.

1. Architects have designed and built houses to be heated by solar radiation.

2. Rubber is known to have been brought from America.

3. The Egyptians seem to be the first to apply geometry for practical purposes.



4. The search for new sources of energy having been started, the uneconomical waste
of fossil fuels will be discontinued.
5. Having done a given number of operations the machine stopped automatically.

[ll. MepenuwunTe NpeanoXeHnst U NepeBeanTe NX Ha PyCCKUI A3blK, obpallas BHUMaHWe
Ha pasnu4yHble 3Ha4YeHUs BblAENEHHbIX CMOB.

1. Hydroelectric energy requires no fuel for electricity is produced from the energy of
falling water.

2. In the field of chemistry lasers are used either for diagnostic purposes or for
producing chemical changes.

3. Many important discoveries have been made since the beginning of the 20-th
century.

IV. MNpountante n yCTHO nepeBeamTe Ha PyCCKNn A3bIK ¢ 1-ro no 4-in ab3aubl TEKCTa.
Mepenuwunte n NnMCbMEHHO nepeseauTe 1-n n 3-n ablaupl.
[MosACHEHUS K TEKCTY:
. sophisticated- ycnoXHeHHbIN
. cell- kneTka
. to afflict- ctpagatb
. despite- HecmOTps Ha
. retina- ceTyaTtka
. storage capacity- o6bem namaTu

OO WNPEF

Biochemistry
1. The chemistry of life or biochemistry as chemists call it is an area in which classical
fields of chemistry and biology meet. It can be called “molecular biology”. Biochemistry
is the study of the structures and reactions of the thousands of compounds involved in
life process. Biochemistry is considered to be the most complex area of chemistry.
2. Living things represent the most efficient sophisticated, compact chemical “factories”
ever known. How, for example, do cells of the body know when to divide and multiply
into new cells having the same characteristics as the original cells? When the body is
afflicted by disease or by a wound how does the body protect itself and repair the
damage? We know these processes to involve thousands of different chemical
compounds.
3. When we compare the nervous system to man-made electronic computers the
efficiency and complexity of the biological systems become even more impressive.
Despite great advances in computer technology, the greatest computer ever built is
almost insignificant being compared to a human brain weighing little more than a
kilogram. A computer can perform mathematical operations millions of times faster than
a person but what the nervous system can do! For example, it can cause your arm to
reach out and touch an object. The brain can translate signals from the retina of the
eyes into three dimensional colour images. It can translate a series of frequencies
detected by the ear into thoughts whereas a computer can only perform operations
being programmed by a person. As to the storage capacity the brain really wins out.
The largest computers have storage capacity of about one million “words” but some
experts believe the brain to store up all the signals it receives.
4. The chemical processes of our bodies involve enormously complex sequences of
reactions, details of these processes being far from complete understanding.
Nevertheless the great progress has been made in our understanding of the processes
that occur in the body.
5. The first half of this century might be termed the Golden Age of Physics because so
many discoveries in understanding the structure of molecules, atoms and nuclei were



made. By the same virtue we may be in the midst of a Golden Age in Biochemistry. The
next few years of research may bring much increased understanding of chemical

processes in cells.

V. MpounTtanTte 5-bin ab3aL, TEKCTA M MMCbMEHHO OTBETbTE Ha CrNeayoLLMiA BONPOC:
What phenomena are not yet understood in biochemistry?



